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GROUP I - 2015 

MODEL MODEL MODEL MODEL EXAMEXAMEXAMEXAMINATION INATION INATION INATION ––––    IIII    

GENERAL STUDIESGENERAL STUDIESGENERAL STUDIESGENERAL STUDIES    
 
1. Consider the following statement 

I. On February 20, 1947 Clement Atlee declared that British rule in India would end by 
June 30, 1948 

II. Government of India Act 1919 introduced direct elections in the country 
A. I only correct  B. II only correct 
C. Both are correct  D. Both are wrong 
gpd;tUk; $w;Wfis Ma;f 
I. gpg;uthp 20 1947y; fpskz;l; ml;yp Mq;fpNyahpd; Ml;rp ,e;jpahtpy; [_d; 30> 1948f;Fs; 

KbTf;F tUk; vd mwptpj;jhh; 
II. ,e;jpa muRr; rl;lk; 1919 Neub Njh;jiy ,e;jpahtpy; mwpKfg;gLj;jpaJ 

A. I kl;Lk; rhp  B. II kl;Lk; rhp 
C. ,uz;Lk; rhp  D. ,uz;Lk; jtW 
 

2. Cabinet of Interim Government 
Which among the following is not correct? 
A. Rajaji – Education & Arts   
B. R.K. Shanmugam Chetty – Finance 
C. Sardar V. Patel – Home 
D. Joginder Nath Mandal – Law 
gpd;tUtdtw;Ws; ,ilf;fhy mikr;Rf;FO gw;wpa jtwhd ,iz vJ? 
A. ,uh[h[p – fy;tp kw;Wk; fiy 
B. R.K. rz;Kfk; nrl;b – epjp 
C. rh;jhh; ty;ygha; gl;Nly; - cs;Jiw 
D. N[hfpe;jh; ehj; kz;ly; - rl;lk; 

 
3. Radioactivity is due to  

a. Stable electronic configuration   b. Unstable nucleus  
c. Stable nucleus    d. Unstable electronic configuration  
fjph;tPr;Rf;fhd fhuzk; __________ 

a. epiyj;j vyf;l;uhd; mikg;G   b. epiyg;Gj; jd;ikaw;w cl;fU 
c. epiyj;j cl;fU      d. epiyg;Gj; jd;ikaw;w vyf;l;uhd; mikg;G 
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4. Match the kinds of cancer from List A relating to the tissues from which they arise in List B 
List B    List B 

 a. Lymphoma  1. Epithelial cancers 
 b. Sarcoma   2. white blood cells 
 c. Carcinoma   3. malignancy in structured tissues 
 d. Leukemia   4. Lymphatic tissue 
  a b c d 
 A.  4 3 1 2 
 B. 4 3 2 1 
 C. 4 1 2 3  
 D. 3 2 4 1 

 Gw;W Neha;fs; mitfs; Njhd;Wk; jpRf;fSf;F Vw;g ngwhplg;gl;Ls;sij nghUj;jTk; 
a. ypk;Nghkh    1. vg;gpjpypa jpRf;fspy; Gw;WNeha; 

b. rhh;Nfhkh    2. ,uj;j nts;is mZf;fspy; 

c. fhh;rpNdhkh   3. mikg;G jpRf;fspy; Vw;gLk; fl;bfs; 

d. Y}Af;Nfkpah   4. epzePh;j; jpRf;fspy; 

  a b c d 
 A.  4 3 1 2 
 B. 4 3 2 1 
 C. 4 1 2 3  
 D. 3 2 4 1 

 

5. A stone cut water Reservoir has been discovered from 
A. Surkotada  B. Kalibangan  C. Dholavira  D. Harappa 

  fy;ypdhy; fl;lg;gl;l ePh;j;Njf;fk; vq;F fz;lwpag;gl;lJ 

  A. Rh;Nfhl;llh B. fhspgq;fd;  C. Njhyhtpuh  D. `ug;gh 
 

6. Who was the founder of Mahayana sect of Buddhism? 
A. Vasumitra  B. Nagarjuna  C. Rahul Bhadra  D. Asang 
Gj;jkj k`hahd gphptpid Njhw;Wtpj;jth;? 

A. tRkpj;jpuh;  B. ehfh;[_dh;  C. uhFy; gj;uh  D. mrhq; 
 

7. Match the following 
a. Constitution Day  1. September 25 
b. Antyodaya Day  2. February 2 
c. MNREGA Day  3. November 26 
d. Good Governance Day 4. December 25 
 a b c d 
A. 1 3 2 4 
B. 3 1 4 2 
C.  3 1 2 4 
D. 1 2 4 3 
nghUj;Jf 

a. murpayikg;G jpdk; 1. nrg;lk;gh; 25 

b. me;jpNahjah jpdk; 2. gpg;uthp 2 

c. MNREGA jpdk;  3. etk;gh; 26 

d. ey; MSif jpdk; 4. brk;gh; 25 
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 a b c d 
A. 1 3 2 4 
B. 3 1 4 2 
C.  3 1 2 4 
D. 1 2 4 3 

 
8. Choose the wrong pair 

A. Divine Life – Aurobindo Ghosh 
B. India Divided – Rajendra Prasad 
C. India Wins Freedom – M.A. Azad 
D. India of My Dreams – M.K. Gandhi 
jtwhd ,iziaf; fz;lwp 

A. Divine Life – mugpe;Njh Nfh~; 
B. India Divided – ,uhN[e;jpu gpurhj; 
C. India Wins Freedom – M.A. Mrhj; 
D. India of My Dreams – M.K. fhe;jp 

 
9. What is the name of the first direct container vessel from India to Qatar which arrived at Doha 

on 31 March 2015 as part of a non-stop service launched to facilitate swift trade between the 
two countries? 
A. INS Bandhu    B. M.S. Convent  
C. INS Rakashak   D. M.S. Millennium 
,e;jpah kw;Wk; fj;jhh; ehl;bw;F ,ilNa tpiuthd thzpfk; eilngw VJthf> ,ilepy;yh 
Nritapd; xU gFjpahf ,e;jpahtpypUe;J fj;jhh; ehl;Lf;F ,af;fg;gLk;> Njh`htpw;F 31 khh;r; 
2015 md;W te;J Nrh;e;j>  KjyhtJ Neub ruf;Ff; fg;gypd; ngah; vd;d?  

A. Ivd;;v]; ge;J    B. vk;.v];. fhd;ntd;l;  
C. Ivd;v]; ufh~f;   D. vk;.v]. kpy;Nydpak; 

 
10. A documentary film made by British Director Leslee Udwin about the fatal gang rape of the 23 

year old paramedic woman in New Delhi in 2012 was banned in India in March 2015. What is 
the name of this documentary? 
A. Daughter of the East   B. India’s Daughter 
C. Shame     D. Daughter in Pearl 
GJnly;ypapy; 2012 md;W kpfTk; nfh^ukhf xU Fk;gyhy; rPuopf;fg;gl;l 23 taJ Jiz 
kUj;Jt khztp gw;wp ,q;fpyhe;jpd; ,af;Feh; ny];yP cj;tpd; jahhpj;j Mtzg; glk; 
,e;jpahtpy; khh;r; 2015y; jil nra;ag;gl;lJ.  me;j Mtzg; glj;jpd; ngah; vd;d?   

A. fpof;fj;jpa ehl;bd; kfs;  B. ,e;jpahtpd; kfs; 
C. mtkhzk;     D. Jd;gj;jpy; kfs; 

 
11. Match the following 

a. Srikrishna Committee  1. Tax Enquiry 
b. Malhotra Committee  2. 1992 Bombay Riots 
c. Wanchoo Committee  3. Insurance Reforms 
d. Raja Chellaih Committee 4. Black Money 
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 a b c d 
A. 3 2 4 1 
B. 3 2 1 4 
C. 2 3 4 1 
D. 2 3 1 4 
nghUj;Jf 
a. =fpU~;zh FO  1. thp tprhuiz  

b. ky;N`hj;uh FO  2. 1992 gk;gha; fytuk; 
c. thd;# FO  3. fhg;gPl;L rPh;jpUj;jq;fs; 
d. uh[h nry;iya;ah FO 4. fUg;G gzk; 
 a b c d 
A. 3 2 4 1 
B. 3 2 1 4 
C. 2 3 4 1 
D. 2 3 1 4 

 

12. Match the following 
a. Swaminathan Committee  1. Population policy 
b. Narasimhan Committee   2. Industrial sickness 
c. Omkar Committee   3. Electoral Reforms 
d. Dinesh Goswami Committee  4. NABARD 
 a b c d 
A. 1 4 3 2 
B. 1 4 2 3 
C. 1 2 3 4 
D. 4 3 2 1 
nghUj;Jf 
a. Rthkpehjd; FO    1. kf;fs;njhif nfhs;if  

b. eurpk;kd; FO    2. eyptile;j njhopw;rhiyfs; 
c. Xk;fhh; FO    3. Njh;jy; rPh;jpUj;jq;fs; 
d. jpNd~; Nfh];Rthkp FO  4. NABARD 
 a b c d 
A. 1 4 3 2 
B. 1 4 2 3 
C. 1 2 3 4 
D. 4 3 2 1 

 

13. A meteor is 

A. A rapidly moving star 
B. A piece of matter which has entered the earth’s atmosphere from outer space 
C. Part of a constellation 
D. A comet without tail 

xU vhpel;rj;jpuk; vd;gJ 
A. Ntfkhf efUk; el;rj;jpuk; 
B. ntspg;Gw tpz;ntspapypUe;J g+kpapd; fhw;W kz;lyj;jpw;F te;Js;s xU nghUspd; 
gFjp (Jz;L) 

C. el;rj;jpuf; $l;lj;jpd; xU gFjp 
D. thy; ,y;yhj thy; el;rj;jpuk; 
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14. Which of the following currents is also known as the Humboldt Current? 

A. California Current   B. Labrador Current 
C. Peru Current    D. Kuroshio Current 
fPo;f;fz;l ePNuhl;lq;fspy; ve;j ePNuhl;lk; `k;Nghy;l; ePNuhl;lk; vd;wiof;fg;gLfpwJ? 

A. fypNghh;dpah ePNuhl;lk;   B. yhg;ulhh; ePNuhl;lk; 
C. ngU ePNuhl;lk;    D. FNuh~pNah ePNuhl;lk; 

 
15. Which of the following, in March 2015, became the first court in India to set up dedicated 

commercial courts within it to ensure speedy disposal of cases? 
A. Calcutta High Court   B. Delhi High Court 
C. Allahabad High Court    D. Bombay High Court  
gpd;tUtdtw;Ws; ve;j ePjp kd;wk;> khh;r; 2015y;> jd;Dila vy;iyf;Fs;NsNa tof;Ffis 
tpiue;J Kbf;f VJthf> jdpahd tzpf ePjp kd;wq;fis epWtpa ,e;jpahtpd; KjyhtJ 
ePjpkd;wk; vd;w ngaiug; ngw;wJ.   

A. fy;fj;jh cah; ePjpkd;wk;  B. nly;yp cah; ePjpkd;wk; 
C. myfhghj; cah; ePjpkd;wk;   D. ghk;Ng cah; ePjpkd;wk;  

 
16. The least five digit perfect square number which is divisible by 3, 4, 5 and 8 is:  

A. 10800  B. 10201  C. 14400  D. 32400 
3> 4> 5 kw;Wk; 8 Mfpatw;why; tFglf;$ba kpff; Fiwe;j rhpahd Ie;J ,yf;f tHf;f vz; 
vJ? 

A. 10800  B. 10201  C. 14400  D. 32400 

 

17. The HCF and LCM of two numbers are respectively 12 and 2448. If the difference of the 
numbers is 60, their sum is:  
A. 348   B. 284   C. 248   D. 204 
,uz;L vz;fspd; kPg;ngU nghJ tF vz; (HCF) kw;Wk; kPr;rpW nghJ klq;F (LCM) KiwNa 
12 kw;Wk; 2448 MFk;.  me;j vz;fSf;F ,ilNaahd tpj;jpahrk; 60 vdpy;> mtw;wpd; $Ljy; 
vd;d? 

A. 348   B. 284   C. 248   D. 204 

 

18. The product of two numbers is 4107. If the HCF of the numbers is 37, the greater number is:  
A. 185   B. 111   C. 107   D. 101  
,uz;L vz;fspd; ngUf;fw;gyd; 4107.  me;j vz;fspd; kPg;ngU nghJ tF vz; 37 vdpy;> 
nghpa vz; vJ? 

A. 185   B. 111   C. 107   D. 101  

 

19. In a group of students, 70% can speak English and 65% can speak Hindi. If 27% of the students 

can speak none of the two languages, then what per cent of group can speak both the 

languages? 

A. 38%    B. 62%   C. 28%    D. 23% 
xU khzth;fs; FOtpy;> 70 rjtPjk; Ngh; Mq;fpyk; NgRgth;fs;> 65 rjtPjk; Ngh; ,e;jp 
NgRgth;fs;. 27 rjtPjk; khzth;fs; Nkw;fz;l ,uz;L nkhopfisAk; Ngrhjth;fs; vdpy;> 
,uz;L nkhopfisAk; NgRk; khzth;fs; vj;jid rjtPjk;? 

A. 38%    B. 62%   C. 28%    D. 23% 
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20. A sum 817 is divided among, A, B and C such that A receives 25% more than B and B received 
25% less than C. What is the A share in the amount? 
A. 228   B. 247   C. 285   D. 304 
&.817 vd;w njhif> A, B kw;Wk; C MfpNahhpilNa gphpf;fg;gLfpwJ.  mjd;gb> B-I tpl A-
f;F 25 rjtPjk; mjpf njhif fpilf;fpwJ> mNj Nghy C-I tpl B-f;F 25 rjtPjk; njhif 
Fiwthff; fpilf;fpwJ.  mt;thnwdpy; me;jj; njhifapy; A-d; gq;F vd;d?  
A. 228   B. 247   C. 285   D. 304 

 
21. The shocking incident of a mob breaking into a jail, pulling out a rape accused and then 

lynching him on streets took place in which city of Nagaland on 5 March 2015? 
A. Peren   B. Dimapur   C. Phek  D. Kohima 
xU Fk;gy; xU rpiwr; rhiyf;Fs; GFe;J> fw;gopg;Gf; Fw;wk; rhl;lg;gl;ltiu ntspNa ,Oj;J 
te;J njUtpy; itj;Jj; jhf;fpf; nfhiy nra;j mjph;r;rpfukhd epfo;T ehfhyhe;jpd; ve;j 
efuj;jpy; 5 khh;r; 2015 md;W eilngw;wJ? 

A. ngud;   B. jpkhg+h;   C. ngf; D. nfh`pkh 
 

22. Match the bionamial of silkworm from List A with the type of silk produced in List B 
List A    List B 

 a. Attacus ricinii   1. Muga silk 
 b. Bombyx mori   2. Aradi silk 
 c. Autheraea paphia   3. Tassar silk 
 d. Antheraea assamensia  4. Mulbery silk 
  a b c d 
 A. 2 4 1 3 
 B. 3 4 1 2 
 C. 4 2 3 1 
 D. 2 4 3 1 

caphpay; ngah; nfhz;l gl;LG+r;rpiaAk; mjd; jahhpg;igAk; nghUj;Jf: 

a. ml;lhf]; hprpid   1. Kfh gl;L 

b. ghk;gpf;]; nkhhp   2. Mubg;gl;L 

c. Md;jhpa gh/gpah   3. l]h;gl;L 

d. Md;juah m];]hnkd;]p];  4. ky;nghpg;gl;L  
  a b c d 
 A. 2 4 1 3 
 B. 3 4 1 2 
 C. 4 2 3 1 
 D. 2 4 3 1 
 

23. Match the diseased with the binomial of the disease causing organism in List B 
List A    List B 

 a. Dysentry    1. Xenopsylla cheopis 
 b. cholera    2. Leishmania 
 c. kala – azar    3. Entamoeba histolytica 
 d. Bubonic plague   4. Vibrio species 
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  a b c d 
 A. 3 4 1 2 
 B. 3 1 2 4 
 C. 3 4 2 1 
 D. 4 1 2 3 

NehiaAk; mij Vw;gLj;Jk; ,UngahPl;L Ez;ZapiuAk; nghUj;Jf. 

a. rPjNgjp    1. rPNdhg;]piuAk; nfNahgp]; 

b. fhyuh    2. yP~;Nkdpah 

c. fhyh-mrh;    3. vd;lkpgh `p];lypbfh 

d. GNghdpf; gpNsf;   4. tpg;hpNah ,dk; 

  a b c d 
 A. 3 4 1 2 
 B. 3 1 2 4 
 C. 3 4 2 1 
 D. 4 1 2 3 

 

24. Consider the following statements 
I. Satyendranath Singh – temporary president of Constituent Assembly 
II. Rajendra Prasad & G.V. Mavlankar – First president of Constituent Assembly and the 

Speaker of the Legislative body respectively 
A. I only correct   B. II only correct 
C. Both are correct  D. Both are wrong 
gpd;tUk; $w;Wfis Ma;f 
I. murpay; eph;za rigapd; jw;fhypf jiyth; rj;jpNae;jpuehj; rpq;  
II. ,uhN[e;jpu gpurhj; kw;Wk; [p.tp. kht;yhq;fh; KiwNa murpay; eph;za rigapd; Kjy; 

jiyth; kw;Wk; rl;lkd;wj;jpd; Kjy; jiyth;fshth; 
A. I kl;Lk; rhp  B. II kl;Lk; rhp 
C. ,uz;Lk; rhp  D. ,uz;Lk; jtW 

 
25. “Indian Constitution is founded on bedrock of balance between Fundamental Rights and 

Directive Principles.” Supreme Court held the above statement in which case 
A. Kesavanantha Bharti Case 1973 
B. Minerva Mills Case 1980 
C. Golaknath Case 1967 
D. S.R. Bommai Case 1994 
“,e;jpa murpayikg;G rl;lk; mbg;gil chpikfs; kw;Wk; topfhl;Lk; newpKiwfs; 
Mfpatw;wpd; rkepiy jj;Jtj;jpd; mbg;gilapy; mike;Js;sJ” – vd;W cr;rePjpkd;wk; $wpa 
tof;F 
A. Nfrthde;jh ghujp tof;F – 1973  
B. kpdh;th kpy; tof;F – 1980 

C. Nfhyf;ehj; tof;F 1967 
D. S.R. nghk;ik tof;F – 1994 

 

26. Arrange the following Ancient Indian astronomers mathematicians in the chronological order: 

1. Varahamihira 2. Bhaskara  3. Aryabhatta 4. Brahmagupta 

Select the correct answer from the codes given below: 

A. 1, 3, 4, 2  B. 3, 1, 4, 2  C. 2, 4, 1, 3  D. 4, 2, 3, 1 
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 goq;fhy thdtpay; kw;Wk; fzpj Nkijfis fhy thpirg;gLj;Jf 
 1. tuh`kpfpuh; 2. gh];fuh;  3. Mh;agl;lh;  4. gpuk;kFg;jh; 
 ,tw;Ws; 

A. 1, 3, 4, 2  B. 3, 1, 4, 2  C. 2, 4, 1, 3  D. 4, 2, 3, 1 
 

27. Tiruvalangadu copper plate inscription and the Tirumalai rock inscription reflect upon the 

conquests of 

A. Rajaraja I  B. Rajendra I  C. Rajendra II  D. Kulottunga 
jpUtyq;fhL kw;Wk; jpUkiy fy;ntl;Lfs; gpd;tUk; kd;dh;fspy; ve;j kd;dhpd; ntw;wpia 
giwrhw;Wfpd;wd? 

A. Kjyhk; ,uh[,uh[d;  B. Kjyhk; ,uhN[e;jpuh; 
C. ,uz;lhk; ,uhN[e;jpuh;  D. FNyhj;Jq;fd; 

 
28. Who operates the National Disaster Response Fund which was constituted under the Disaster 

Management Act, 2005? 
A. Prime Minister     
B. Union Minister for Home Affairs 
C. Union Minister for Parliament Affairs 
D. Union Minister for Environment and Forests 
Nghplh; Nkyhz;ik rl;lk; 2005-d; gb cUthf;fg;gl;l Njrpa Nghplh; epjpiaf; ifahs;gth; 
ahh;? 

A. gpujk ke;jpup  

B. kj;jpa cs;Jiw mikr;rh; 
C. kj;jpa ghuhSkd;w tptfhuj;Jiw mikr;rh; 
D. ke;jpa Rw;Wr;#oy; kw;Wk; tdj;Jiw mikr;rh; 

 

29. Poverty in less developed countries is largely due to 
A. lack of cultural activities 
B. voluntary idleness 
C. income inequality 
D. lack of the intelligence of the people 
tsh;r;rp Fiwe;j ehLfspy; tWikf;F nghpJk; fhuzk; 

A. fyhr;rhu eltbf;iffs; FiwT 
B. Ntiyapd;ik 
C. tUtha; Vw;wjjho;T 
D. kf;fspd; Fiwe;j Gj;jp $h;ik 

 

30. Which of the following have coral reefs? 

1. Andaman and Nicobar Islands  2. Gulf of Kachch 
3. Gulf of Mannar    4. Sunderbans 
Select the correct answer using the codes given below : 
A 1, 2 and 3 only    B. 2 and 4 only 
C. 1, 3 and 4 only    D. 1, 2, 3 and 4 
fPo;f;fz;litfspy; vjpy; gtsg;ghiwfs; cs;sd? 
1. me;jkhd; kw;Wk; epNfhghh; jPTfs; 2. fl;r; tisFlh 
3. kd;dhh; tisFlh   4. Re;jutdf;fhLfs; 
fPNo nfhLf;fg;gl;Ls;s FwpaPLfisg; gad;gLj;jp rhpahd tpiliaj; Njh;e;njLf;fTk;. 

A. 1, 2 kw;Wk; 3 kl;Lk;   B. 2 kw;Wk; 4 kl;Lk; 
C. 1, 3 kw;Wk; 4 kl;Lk;   D. 1, 2, 3 kw;Wk; 4 
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31. Which of the following winds relieves the people of Gulf of Guinea from oppressive hot and 

humid weather and is termed as ‘doctor’ by them? 

A. Hermattan B. Sirocco  C. Khamsin  D. Brickfielder 
fPo;f;fz;l ve;j fhw;W> fpdpah tisFlhtpd; kf;fis fLikahd ntg;gk; kw;Wk; <ug;gj 
thdpiyapypUe;J tpLtpj;jJ kw;Wk; mth;fs;  mij “lhf;lh;” vdTk; miof;fpd;wdh;? 

A. `h;khl;lhd; B. rpuhNfh  C. fhk;rpd;  D. gphpf;/gPy;lh; 
 

32. Choose the wrong statement 
A. Ajeya Warrior – India and UK 
B. Surya Kiran – India and Nepal 
C. VARUNA – India and France 
D. Dosti – India and Bangladesh 
jtwhd $w;iw fz;lwp 

A. mN[ah thhpah; - ,e;jpah kw;Wk; ,q;fpyhe;J 
B. #h;a fpuz; - ,e;jpah kw;Wk; Neghsk; 
C. tUzh - ,e;jpah kw;Wk; /gpuhd;R 
D. Njh];jp - ,e;jpah kw;Wk; gq;fshNjrk; 
 

33. Which of the following was declared as World Heritage sites in India in 2014? 
A. Kaziranga National Park  
B. India Gate, Mumbai 
C. Bandipur National Park   
D. Rani – Ki – Vav and Great Himalayan National Park 
2014Mk; Mz;L ,e;jpahtpy; cyf ghuk;ghpa fskhf mwptpf;fg;gl;l ,lk;  
A. fhrpuq;fh Njrpa g+q;fh 
B. ,e;jpah Eiothapy;> Kk;gha; 
C. ge;jpg;g+h; Njrpa g+q;fh 
D. uhzp-fp-tht; kw;Wk; ,khya Njrpa g+q;fh 

 
34. Who was the first Indian to Receive Ramon Magsaysay Award? 

A. Vinoba Bhave  B. J.P. Narayan 
C. Medha Patkar  D. Aruna Roy  
,uNkhd; kf;NrNr tpUjpid ngw;w Kjy; ,e;jpah; ahh;? 

A. tpNdhgh ghNt  B. N[.gp. ehuhaz; 
C. Nkjh gl;fh;  D. mUzh uha; 

 
35. Match the following 

UN Agencies  Head Quarters 
a. ILO   1. Washington D.C 
b. UNICEF  2. Paris 
c. UNESCO  3. New York 
d. IBRD  4. Geneva 
  a b c d 
A. 4 3 2 1 
B. 4 3 1 2 
C. 4 1 2 3 
D. 3 1 2 4 
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nghUj;Jf 
If;fpa ehLfs; mq;fq;fs;  jiyikafk; 

a. ILO     1. th~pq;ld; D.C 
b. UNICEF    2. ghhp]; 
c. UNESCO    3. epa+ahh;f; 
d. IBRD    4. n[dpth 
  a b c d 
A. 4 3 2 1 
B. 4 3 1 2 
C. 4 1 2 3 
D. 3 1 2 4 
 

36. Selling price of a commodity is increased by 15% in a year and then the new price is decreased 
by 15% in the next year. Find net increase or decrease in the selling price.  
A. no effect   B. 2% decrease  C. 2.25% decrease  D. 2.25% increase 
xU nghUspd; tpw;gid tpiy xU Mz;by; 15 rjtPjk; mjpfhpf;fg;gLfpwJ.  gpwF Gjpa 
tpiy mLj;j Mz;by; 15 rjtPjk; Fiwf;fg;gLfpwJ.  tpw;gid tpiyapd; epfu mjpfhpg;G 
my;yJ Fiwg;G vt;tsT? 

A. khw;wk; ,y;iy B. 2% FiwT   C. 2.25% FiwT  D. 2.25% mjpfk; 
 

37. Price of sugar having been fallen by 10%, a consumer can buy 10 kg more of sugar than what 
he was buying originally. Find the quantity he was buying originally. 
A. 80 kg   B. 90 kg   C. 100 kg  D. 110 kg  
rh;f;fiuapd; tpiy 10 rjtPjk; Fiwe;jjhy;> xU thbf;ifahsh; Kd;djhf jhd; thq;fp te;j 
rh;f;fiuapd; msit tpl 10 fpfp rh;f;fiuia $Ljyhf thq;f KbfpwJ.  mth; Muk;gj;jpy; 
thq;fp te;j rh;f;fiuapd; msT vd;d? 

A. 80 fpfp   B. 90 fpfp   C. 100 fpfp  D. 110 fpfp  
 

38. Which of the following is the biggest in value: 

A. 19 17−   B. 13 11−   C. 7 5−   D. 5 3−  
gpd;tUtdtw;Ws; kpfTk; mjpf kjpg;G cs;sJ vJ? 

A. 19 17−   B. 13 11−   C. 7 5−   D. 5 3−  

 

39. 
3 3 3

2 2 2

1 2 1 5 1 6 3 1 2 1 5 1 6

1 2 1 5 1 6 1 2 1 5 1 5 1 6 1 6 1 2

+ + − × × ×

+ + − × − × − ×

= ? 

A. 43   B. 34   C. 9   D. 4 
 

40. If x - 
1

x
= 7, then x3 - 

3

1

x
= ?  

A. 309   B. 322   C. 364   D. 401 

x - 
1

x
= 7 vdpy;> x3 - 

3

1

x
= ?  

A. 309   B. 322   C. 364   D. 401 
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41. Consider the following statements regarding “Earth Hour”. 

1. It is an initiative of UNEP and UNESCO. 
2. It is movement in which the participants switch off the lights for 
   one hour on a certain day every year. 
3. It is a movement to raise the awareness about the climate change 
    and need to save the planet. 
Which of the statements given above is/are correct? 
A. 1 and 3 only  B. 2 only  C. 2 and 3 only D. 1, 2 and 3 
“Gtp Neuj;jpw;F” njhlh;ghd fPo;f;fz;l $w;Wfis Ma;f 

1) ,J A.vd;.,.g;gp  (UNEP) kw;Wk; And];Nfh (UNESCO) Mfpaitfspd; $l;L 
Kaw;rpahFk;  

2) ,J Xh; ,af;fk; MFk;. ,e;j ,af;fj;jpy; fye;J nfhs;gth;fs; xt;nthU tUlKk; xU 
Fwpg;gpl;l ehspy; xU kzp Neuk; kpd; tpsf;Ffis mizj;J tpLth;. 

3) ,e;j ,af;fk; fhyepiy khw;wk; kw;Wk; Gtpia 
ghJfhg;gjw;fhd Njit Fwpj;J tpopg;Gzh;it mjpfhpf;fr; nra;fpwJ. 

NkNy nfhLf;fg;gl;l $w;Wfspy; vJ/vit rhp? 
A. 1 kw;Wk; 3 kl;Lk;  B. 2 kl;Lk;  C. 2 kw;Wk; 3 kl;Lk;  D. 1, 2 kw;Wk; 3 
 

42. In India, how many states share the coastline? 

A. 7  B. 8  C. 9   D. 11 
,e;jpahtpy; vj;jid khepyq;fs; flw;fiuiaf; nfhz;Ls;sd? 

A. 7  B. 8  C. 9   D. 11 
 

43. Arrange the events in chronological order regarding Indian Economy. 
1. First phase of nationalization of 16 banks. 
2. Establishment of Narashimhan Committee on the Banking System. 
3. Enactment of FEMA Act in India. 
4. Establishment of EXIM Bank in India. 
Codes: 
A. 1, 3, 4, 2  B. 1, 4, 2, 3  C. 1, 3, 2, 4  D. 1, 4, 3, 2 
,e;jpag; nghUshjhuk; njhlh;ghd fPo;fz;l epfo;Tfis fhyj;jpd; mbg;gilapy; 
thpirg;gLj;Jf. 
1. 16 tq;fpfis Njrpakakhf;fy; 
2. tq;fp mikg;G Kiwapd; kPJ mikf;fg;gl;l eurpk;kd; FO 
3. ,e;jpahtpy; me;epar; nryhtzp Nkyhz;ikr; rl;lj;ij eilKiwg;gLj;jpaJ. 
4. ,e;jpahtpy; Vw;Wkjp ,wf;Fkjp tq;fp cUthf;fk; 

A. 1, 3, 4, 2  B. 1, 4, 2, 3  C. 1, 3, 2, 4  D. 1, 4, 3, 2 
 

44. The Reserve Bank of India regulates the commercial banks in matters of  
1. liquidity of assets   2. Branch expansion 
3. merger of banks   4. Winding-up of banks 
Select the correct answer using the codes given below 
A. 1 and 4  B. 2, 3 and 4  C. 1, 2 and 3  D. All of these 
,e;jpa hprh;t;tq;fp tzpf tq;fpfis ve;nje;j tp~aq;fspy; xOq;FgLj;JfpwJ. 
1. nrhj;Jf;fspd; ePh;j;jd;ik  2. fpis tphpthf;fk; 
3. tq;fpfis ,izj;jy;  4. tq;fpfis %Ljy; 

A. 1 kw;Wk; 4  B. 2, 3 kw;Wk; 4 C. 1, 2 kw;Wk; 3 D.NkNy $wpa ahTk; 
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45. Match the following: 

a. Muftis 1. Intelligence Agents 
b. Barid 2. Exponder of Law. 
c. Kotwal 3. Minister incharge of Army. 
d. Arz-i-Mamalik 4. Head of city administration. 

  a b c d 
 A. 2 4 1 3 
 B. 1 2 3 4 
 C. 4 3 2 1 
 D.  2 1 4 3 

nghUj;Jf 

a. K/g;jp];    1. csTg; gphpT 

b. ghpl;    2. rl;l ty;Yeh; 

c. Nfhl;thy;    3. ,uhZt mikr;rh; 

d. mh;];-,-khkhypf;   4. efu eph;thf jiyth; 

  a b c d 
 A. 2 4 1 3 
 B. 1 2 3 4 
 C. 4 3 2 1 
 D.  2 1 4 3 

 
46. Who was the Hindi poet during Akbar’s time who pleaded for a modified caste system based 

not on birth but on individual qualities? 

A. Tulsidas  B. Surdas  C. Narasimha Mehta B. Maharji Rana 
gpwg;gpd; mbg;gilapy; ,y;yhky; Fzq;fspd; mbg;gilapy; rhjp Kiwia khw;w Nfhhpa mf;gh; 
mitapy; ,Ue;j ,e;jp ftpQh; 

A. Jsrpjhrh;  B. #h;jhrh;  C. eurpk;k Nkj;jh  D. k`h;[p uhzh 
 

47. Which among the following is wrongly matched? 
A. 4th Schedule – Article 4 & 80  B. 9th Schedule – Article 31C 
C. 10th Schedule – Article 102 & 191 D. 8th Schedule – Article 344 & 351 
gpd;tUtdtw;Ws; jtwhd ,iziaf; fhz;f 

A. 4tJ ml;ltiz – rl;lf;$W 4 & 80 
B. 9tJ ml;ltiz – rl;lf;$W 31C 
C. 10tJ ml;ltiz – rl;lf;$W 102 & 191 
D. 8tJ ml;ltiz – rl;lf;$W 344 & 351 

 

48. Consider the following statements about Preamble 
I. Ernest Barker – Key note 
II. Palkhivala – Identity card 
III. K.M. Munshi –horoscope of our sovereign democratic republic 
IV. Thakur Das Bhargava – Soul of the constitution 

  Choose the correct code: 
  A. I, III correct   B. I, II, III correct 
  C. I, IV correct   D. All are correct 
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  Kfg;Giu gw;wpa gpd;tUk; $w;Wfis Ma;f 
I. vh;d];l; ghh;f;fh; - Kf;fpa Fwpg;G 
II. gy;fpthyh – milahs ml;il 
III. K.M. Kd;~p - ,e;jpa [dehaf FbauR ,iwahz;ikapd; [hjfk; 
IV. jh$h; jh]; ghh;fth - ,e;jpa murpayikg;gpd; Md;kh 
A. I, III rhp  B. I, II, III rhp  C. I, IV rhp  D. midj;Jk; rhp 
 

49. The police of which State/Union Territory, on 21 May 2015, proposed to reserve 33 percent of 
the seats for the posts of constable and Sub-Inspector for women? 
A. Andaman & Nicobar  B. Delhi 
C. Lakshadweep   D. Puducherry 
ve;j khepy murpd; / a+dpad; gpuNjrj;jpd; fhty; Jiw> 21 Nk 2015 md;W> 33 tpOf;fhL 
fhtyh;fs; kw;Wk; cjtp Ma;thsh; gzpaplq;fis kfspUf;fhf xJf;FtJ vd;W KbT 
nra;jJ? 

A. me;jkhd; kw;Wk; epNfhghh; B. nly;yp 
C. yl;rj; jPTfs;   D. GJr;Nrhp 

 
50. Which fighter jet of Indian air force (IAF), on 21 May 2015, landed successfully on Yamuna 

Expressway as part of developing road runaway for emergency landing? 
A. Sukhoi  B. Mirage  C. Rafale  D. Dassault 
mtrufhy jiuapwf;fj;jpw;F VJthf ,Uf;Fk; nghUl;L> rhiy XL jsj;ij mgptpUj;jp 
nra;tjpd; xU gFjpahf> ,e;jpa tpkhdg; gilapd; ve;j Nghh; n[l; tpkhdk;> 21 Nk 2015 
md;W aKdh vf;];gpu]; Ntapy; ntw;wpfukhf jiu ,wq;fpaJ?  

A. RNfha;  B. kpuh[;  C. nu/Ngy;  D. lrhy;l; 
 
51. Match the sex anomalies in list I in human beings with their genotypes in list II  

List I    List II  
a. Hermaphroditism   1. The females are sterile, have short strature,  
        webbed neck, low intelligence poorly  
                                                       developed ovaries  (44 autosomes + only one X  
                                                       chromosome)  
b. Super females   2. This is due to the presence of an extra  
                                                       chromosome in males. The zygote will have  
                                                         three sex chromosomes (XXY)  
c. Turners syndrome   3. The person will have one extra X and Y  
                                                          chromosome The external gene talia coil not  
                                                          be well defined. 
d. Klinefelters syndrome   4. They possess on extra X-Chromosome (44  
                                                          autosomes +3x Chromosomes) They are  
                                                            mentally retarded and sterile  
 a b c d 
A. 4 1 3 2  
B. 2 1 4 3  
C. 4 3 1 2  
D. 3 4 1 2 
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kdpjhpy; ghy; ,dj;jphpGfSld; kugZ Mf;fj;ij nghUj;Jf. 

a. ,Ughy; caphpj;jd;ik  1. ,th;fs; ,ay;ghd ngz;fisg; Nghd;W  
                      ,y;yhky; kyl;Lj;jd;ikAlDk;> Fs;sj;  
                      jd;ikAld; ,Ug;gh;. mfd;w fOj;J khh;GlDk;>  
                      mwpT $h;ikaw;W> tsh;r;rpAjhj ghy; kw;Wk;  
                      mz;l Rug;gpfisf; nfhz;bUg;gh; 

b. cghpg;gz;G ngz;fs; 2. Mz;fspy; xU X FNuhNkhNrhk; mjpfk;  
                         fhzg;gLk; ,U X(XX) FNuhNkhNrhk; nfhz;l  
                         xU mrhjhuz Kl;il Y FNuhNkhNrhk;  
                         nfhz;l rhjhuz tpe;Jthy; fUTWfpwJ  

c. lh;dhpd; Fiw $l;L  3. xU X kw;Wk; Y mjpfkhff; nfhz;bUg;gh;       
    ntspg;ghL      ghy; rhh;e;j Gw cWg;Gfspd; tsh;r;rp  
                         tiuaWf;fg;gltpy;iy  

d. fpisd;/ngy;lh;   4. xU X FNuhNkhNrhkpid mjpfk; nfhz;bUg;gh;       
    FiwghL           (44 Ml;NlhNrhk;fs; +3X FNuhNkhNrhk;fs;kdtsh;r;rp  
                        mw;wth;fshf ,Ug;gh;  

a b c d 
A. 4 1 3 2  
B. 2 1 4 3  
C. 4 3 1 2  
D. 3 4 1 2   
 

52. Which among the following statement is incorrect 
A. Alcohol is a stimulant and it slows down the activity of the nervous system 
B. ill effects of tobacco are considered to be due to the absorption of nicotine 
C. Drug abuse refer to any use of an illicit drug 
D. None of these 
jtwhd $w;iwf; fz;lwpf  

A. My;f`hy; xU Cf;fpahf cs;sJ kw;Wk; ,J euk;G kz;ly nray;ghl;il 
nkJthf;FfpwJ.  

B. Gifapiyapy; cs;s epNfhl;bid cwpQ;Rtjhy; jPq;F Vw;gLfpwJ   
C. Nghij gof;fk; vd;gJ jtwhd kUe;ijAk; gad;gLj;JtjhFk; 
D. ,it VJkpy;iy 

 

53. Consider the following 
Assertion (A) : Non-communicable diseases are caused due to defective metabolic processes  

  within the body. 
Reason (R): They can also be caused due to life style and changes in the environment. 
A. (A) is right and (R) is wrong 
B.  (A) is wrong but (R) is right 
C. (A) and (R) are both correct     
D. (A) and (R) are wrong  
fPo;f;fz;l $w;WfspypUe;J rhpahdij Njh;T nra;f: 

$w;W (A) : guth Neha;fs; vd;gJ clypDs;NsNa cs;s FiwghLs;s  
          tsh;r;rpij khw;w nray;Kiwapy; cz;lhff;$baJ.  

fhuzk; (R) : mit tho;f;if Kiw kw;Wk; Rw;Wr;#oy; khWghl;bdhYk; Vw;glyhk;  
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A. (A) kw;Wk; (R) ,uz;Lk; rhp  
B. (A) kw;Wk; (R) ,uz;Lk; njhlh;gw;wJ  
C. (A) rhp> Mdhy; (R) jtW  
D. (A) jtW> Mdhy; (R) rhp  

 
54. The use of ‘I knife’ in the medical field is 

A. to detect cardiac disease   B. to detect cholera 
C. to detect common cold   D. to detect cancer 
kUj;Jtj; Jiwapy; I ieg;” –d; gad;  

A. ,Uja Neha;fisf; fzlwpjy; B. fhyuhitf; fz;lwpjy;  
C. rhjhuz rspiaf; fz;lwpjy;  D. Gw;WNehiaf; fz;lwpjy;  

 
55. Which city, in July 2015, emerged as the first one to send its nomination to the Centre for the 

‘Smart City’ Mission that was launched by Prime Minister Narendra Modi earlier? 
A. New Delhi  B. Chandigarh  C. Puducherry  D. Ahmedabad  
gpujk ke;jphpahy; Kd;djhfj; njhlq;fp itf;fg;gl;l “nghypTU efuk;” (Smart City)’ 
,af;fj;jpw;fhf jd;Dila tpz;zg;gj;ij [_iy 2015y; Kjd; Kjypy; mDg;gpa khepyk; vJ? 

A. GJ nly;yp  B. rz;bfhh;   C. GJr;Nrhp   D. m`kjhghj;  
 

56. The diameters of two circles are the side of a square and the diagonal of the square. The ratio 

of the areas of the smaller circle and the larger circle is  

A. 2 : 3   B. 1 : 2   C. 1 : 2    D. 1 : 4 
,uz;L tl;lq;fspd; tpl;lq;fs; xU rJuj;jpd; xU gf;fKk;> me;j rJuj;jpd; %iy tpl;lKk; 
MFk;.   me;j rpwpa tl;lk; kw;Wk; nghpa tl;lj;jpd; gug;gsTfspd; tpfpjk; 

A. 2 : 3   B. 1 : 2   C. 1 : 2    D. 1 : 4 

 
57. The length of a plot is three times its breadth. A playground measuring 800m2 occupies one-

sixth of the total area of the plot. What is the length of the plot? 
A.   130m               B.120m               C. 40m                  D.   160m 
xU epyj;jpd; ePsk; mjd; mfyj;ijg; Nghy %d;W klq;F MFk;.  800 rkP msTs;s xU 
tpisahl;L ikjhdk; me;j epyj;jpd; nkhj;j gug;gstpy; Mwpy; xU gq;F ,lj;ij 
Mf;fpukpj;Jf; nfhz;Ls;sJ.  me;j epyj;jpd; ePsk; vd;d? 

A.   130m               B.120m               C. 40m                  D.   160m 
 

58. What is the least number of square tiles required to pave the floor of a room      16 m 25 cm 
long and 9 m 10 cm broad? 
A.  315                  B.   175                  C.  350                  D.  530 
16kP 25 nrkP ePsKk;> 9kP 10 nrkP mfyKk; nfhz;l xU jiug;gug;ig KOtJkhf epiwT 
nra;tjw;F Njitahd Fiwe;jgl;r rJu tbt js ãu¥ÃfŸ  vz;zpf;ifiaf;  
fz;Lgpbf;fTk;?  

A.  315                  B.   175                  C.  350                  D.  530 

 

59. Three solid spheres of metal whose radii are 1 cm, 6 cm and 8 cm are melted to form another 

solid sphere. The radius of new sphere is:  

A. 10.5 CM   B. 9.5 CM   C. 10 CM  D. 9 CM  
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1 nrkP> 6 nrkP kw;Wk; 8 nrkP Muq;fis cila %d;W jpl cNyhf Nfhsq;fs; cUf;fg;gl;L 

,d;ndhU jpl Nfhskhf cUthf;fg;gLfpd;wd.  Gjpa Nfhsj;jpd; Muk;:  

A. 10.5 nrkP   B. 9.5 nrkP   C. 10 nrkP  D. 9 nrkP  

 

60. A hollow sphere of internal and external diameters 4 cm and 8 cm respectively is melted into a 

cone of base diameter 8 cm. What is the height of the cone? 

A. 12 cm   B. 14 cm   C. 17 cm   D. 18 cm  
4 nrkP cs; tpl;lk; kw;Wk; 8 nrkP ntsp tpl;lKk; nfhz;l xU cs;sPlw;w Nfhsk; 
cUf;fg;gl;L 8 nrkP mb tpl;lk; nfhz;l xU $k;ghf cUthf;fg;gLfpwJ.  me;jf; $k;gpd; 
cauk; vd;d?  

A. 12 nrkP   B. 14 nrkP   C. 17 nrkP   D. 18 nrkP 

 

61. The debris of the Indian Coast Guard’s Dornier aircraft that went missing off the Tamil Nadu 
Coast on 8 June 2015 were located on 10 July 2015, some 1,000 metres under the sea. The 
search of the air craft became possible after first of its kind of search operation carried out in 
India at such depths. What was the name given to this search operation? 
A. Operation Talash    B. Operation Sagar 
C. Operation Rescue   D. Operation Needle 
jkpo;ehL flw;fiuapy; ,Ue;J 8 [{d; 2015 md;W fhzhky; Nghd ,e;jpa flNyhu fhty; 
giliar; Nrh;e;j lhh;dpah; tpkhdj;jpd; cile;j ghfq;fs; 10 [_iy 2015 md;W flYf;F 
mbapy; 1000 kPl;lh;; Moj;jpy; fz;Lgpbf;fg;gl;ld.  ,e;jpahtpy; ,Jtiu ,y;yhj msthf 
,t;tsT Mok; tiuapyhd NjLjy; Ntl;il elj;jpajd; tpisthfNt> me;j tpkhdj;ijf; 
fz;Lgpbg;gJ rhj;jpakhdJ.  ,e;jj; NjLjy; Ntl;ilf;Ff; nfhLf;fg;gl;l ngah; vd;d?     

A. jyh~; eltbf;if     B. rhfh; eltbf;if  
C. kPl;G eltbf;if     D. Crp eltbf;if  
 

62. Which among the following is wrongly matched? 
A. Dadra & Nagar Haveli   - 10th Amendment Act 
B. Goa, Damman and Diu   - 12th Amendment Act 
C. Puducherry     - 14th Amendment Act 
D. Meghalaya as Autonomous State - 20th Amendment Act 
A. jhj;uh kw;Wk; ehfh; `Ntyp – 10tJ rl;lj;jpUj;jk; 
B. Nfhth> lhkd; kw;Wk; ila+ - 12tJ rl;lj;jpUj;jk; 
C. GJr;Nrhp – 14tJ rl;lj;jpUj;jk; 
D. Nkfhyah xU jd;dpr;irahd khepyk; - 20tJ rl;lj;jpUj;jk; 

 
63. Consider the following statements 

I. 52nd Amendment Act, 1985 – Anti-defection Law 
II. 52nd Amendment Act -  Xth Schedule to Constitution 
III. 91st Amendment Act 2003 - made change in Xth Schedule 
IV. Defectors have no protection on Ground of splits 
A. I only correct  B. II, III correct 
C. I, II, III correct  D. All are correct 
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gpd;tUk; $w;Wfis Ma;f 
I. 52tJ rl;lj;jpUj;jk; 1985 – fl;rpj;jhty; jilr;rl;lk; 
II. 52tJ rl;lj;jpUj;jk; - murpayikg;G rl;lj;jpd; 10tJ ml;ltiz 
III. 91tJ rl;lj;jpUj;jk; 2003 – 10tJ ml;ltizapy; jpUj;jk; 
IV. fl;rpjhtypy; <LgLNthh;f;F vg;ghJfhg;Gk; ,y;iy 
A. I kl;Lk; rhp B. II, III rhp  C. I, II, III rhp  D. midj;Jk; rhp 
 

64. Which Amendment Act empowered state to make special provision for Advancement of 
socially and economically backward class 
A. 93rd Amendment Act  B. 1st Amendment Act 
C. 38th Amendment Act  D. 44th Amendment Act 
r%f kw;Wk; nghUshjhuj;jpy; gpw;gLj;jg;gl;Nlhhpd; Nkk;ghl;bw;fhf cUthf;fg;gl;l 
rl;lj;jpUj;jk; vJ? 

A. 93tJ rl;lj;jpUj;jk;  B. 1tJ rl;lj;jpUj;jk; 
C. 38tJ rl;lj;jpUj;jk;  D. 44tJ rl;lj;jpUj;jk; 

 
65. Who appointed Harihara and Bukka to deal with rebellions in the Kampili Kingdom? 

A. Alauddin Khilji   B. Muhammad bin Tughlaq 
C. Ghiyasuddin Tughlaq  D. Firuz Tughlaq 
fk;gpsp rhk;uh[;[paj;jpy; Vw;gl;l fpsh;r;rpia xLf;f `hp`uh; kw;Wk; Gf;fhit epakpj;j kd;dh; 
ahh;? 

A. myhTjpd; fpy;[p   B. Kfk;kJ gpd; Jf;sf; 
C. fpahRjpd; Jf;sf;  D. /gpU]; Jf;sf; 
 

66. Who was the President of the Madras Home Rule League in 1916? 
A. G. Subramania Iyer  B. Annie Besant 
C. V. Shastri Chiplunkar  D. George Arundale 
1916Mk; Mz;L nkl;uh]; jd;dhl;rp ,af;fj;jpd; jiytuhf ,Ue;jth;? 

A. G.  Rg;gpukzpa Iah;  B. md;dp ngrd;l; 
C. V. rh];jphp rpg;yhq;fh;  D. [hh;[; mUz;Nly; 
 

67. Which of the following constitute capital account? 
1. Foreign loans       
2. Foreign direct investment 
3. Private remittances     
4. Portfolio investment 
Select the correct answer using the codes given below 
A. 1, 2 and 3 B. 1, 2 and 4   C. 2, 3 and 4   D. 1, 3 and 4 
fPo; tUtdtw;Ws; vJ %yjd fzf;if cUthf;FfpwJ? 
1. me;epaf; fld;  2. me;epa Neub KjyPL 
3. jdpegh; fl;lzq;fs;  4. Jiw rhh;e;j KjyPL. 

A. 1, 2 kw;Wk; 3 B. 1, 2 kw;Wk; 4  C. 2, 3 kw;Wk; 4  D. 1, 3 kw;Wk; 4 
 

68. Disguise unemployment generally means 
A. large numbers of people remain unemployed 
B. alternative employment is not available 
C. marginal productivity of labour is zero 
D. productivity of workers is low 
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kiwKf Ntiy nghJthff; Fwpg;gJ  

A. mjpf vz;zpf;ifapyhd kf;fs; Ntiyapd;wp ,Uj;jy; 
B. khw;W Ntiy tha;g;gpd;ik 
C. ciog;gpd; ,Wjpepiy cw;gj;jp Mw;wy; G+[;[pak; MFk;. 
D. njhopyhsh;fspd; cw;gj;jpj; jpwd; Fiwthf ,Uf;Fk;. 

 
69. The highest peak K2 of India is located at 

A. Karakoram range  B. Ladakh range 
C. Zaskar range   D. Pirpanjal range 
,e;jpahtpd; kpf caukhd rpfuk; K2 vjpy; mike;Js;sJ? 
A. fhuNfhuk; kiyj;njhlh;  B. ylhf; kiyj;njhlh; 
C. [h];fh; kiyj;njhlh;  D. gPh;ghQ;ry; kiyj;njhlh; 

 
70. When you travel in the Himalayas, you will see the following : 

1. Deep gorges 
2. U-turn river courses 
3. Parallel mountain ranges 
4. Steep gradients causing land sliding 
Which of the above can be said to be the evidences for the Himalayas being young? 
A. 1 and 2 only  B. 1, 2 and 4 only  
C. 3 and 4 only  D. 1, 2, 3 and 4 only 
ePq;fs; ,kakiyapy; gazk; nry;Yk; NghJ> fPo;f;fz;litfis ghh;f;fyhk;. 
1. Mokhd kiyapLf;Ffs; 

2. U – tisT Mw;W fhy;tha;fs; 
3. ,izahd kiyj; njhlh;fs; 
4. epyr;rhpit cz;lhf;ff;$ba nrq;Fj;jhd rhpTfs; 
NkNy fz;ltw;wpy; vit ,kakiy ,sikahf ,Ug;gjw;fhd Mjhuq;fs; vd;W $wg;gLfpwJ? 

A. 1 kw;Wk; 2 kl;Lk;  B. 1, 2 kw;Wk; 4 kl;Lk;  
C. 3 kw;Wk; 4 kl;Lk;  D. 1, 2, 3 kw;Wk; 4 kl;Lk; 

 

71. Which among the following incorrect with regard to dance form 
A. Meghalaya - Laho   B. Mizoram – Khantumm 
C. Uttarpradesh – Navtanki  D. Bihar – Jhora 
eld tbtk; njhlh;ghd jtwhd $w;iw fz;lwp 

A. Nkfhyah – yN`h   B. kpNrhuk; - fd;l;Lk; 
C. cj;jpugpuNjrk; - et;jhq;fp  D. gPfhh; - N[huh 
 

 

72. Which instrument is Pudukottai Dakshinamurthy Pillai associated with? 
A. Kanjira  B. Mridangam  C. Flute   D. Violin 
GJf;Nfhl;il jr;rpzh%h;j;jp gps;is ve;j ,irf;fUtpAld; njhlh;Gilath;? 

A. fQ;rpuh  B. kpUjq;fk;   C. Gy;yhq;Foy;  D. taypd; 
 

73. Pick out the wrong statement. 
A. Leydig cells are found in ovaries 
B. The accessory reproductive organ is prostate gland 
C. The ovum develops inside the Graffian follicles 
D. Oestrogen is secreted by ovary 
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 jtwhd thf;fpaj;ijj; Njh;T nra;: 

  A. yPbf; nry;fs; mz;lj;jpy; fhzg;gLk;  
   B. Gu];Nll; Rug;gp ,d;wpaikahj ,dg;ngUf;f cWg;ghFk;  
  C. fpuhgpad; ghsf;fpspd; cl;Gwj;jpy; mz;lk; cw;gj;jpahfpd;wJ. 
  D. <];l;Nuh[d; mz;lfj;jhy; Ruf;fg;gLfpd;wJ 

74. Pick out the item which has sequential arrangements. 
A. 1. Zygotene 2. Leptotene 3. Pachytene 4. Diplotene 5. Diakinesis 
B. 1. Diakinesis 2. Zygotene 3. Leptotene 4. Diplotene 5. Pachytene  
C. 1. Leptotene 2. Zygotene 3. Pachytene  4. Diplotene 5. Diakinesis  
D. 1. Pachytene 2. Zygotene 3. Leptotene  4. Diplotene 5. Diakinesis  
rhpahd thpiriaj; njhpT nra;: 

A. irNfhG+d;> nyg;Nlhbd;> ghf;fpbd;> bg;Nshbd;> ilahifdrp]; 
B. ilahifdrp];> irNfhbd;> nyg;Nlhbd;> bg;Nshbd;> ghf;fpbd; 
C. nyg;flhbd;> irNfhbd;> ghf;fpbd;> bg;Nshbd;> ilahifdrp]; 
D. ghf;fpbd;> irNfhbd;> nyg;flhbd;> bg;Nshbd;> ilahifdrp]; 
 

75. Match List I correctly with List II and select your answer using the codes given below : 
 List I     List II 
 (Coast)    (State) 
a. Konkan Coast   1. Kerala 
b. Coromandel Coast  2. Maharashtra 
c. Malabar Coast   3. Tamil Nadu and Andhra Pradesh 
d. North Circar   4. Odisha and Andhra Pradesh 
 a b c d  
A 2 4 1 3 
B 4 2 3 1   
C 1 3 4 2  
D 2 3 1 4 
gl;bay; II> gl;bay; II cld; nghUj;jp> fPNo Fwpg;gpl;Ls;s  FwpaPLfisf; nfhz;L rhpahd 
gjpiy Njh;e;njL. 

  gl;bay; I    gl;bay; II 
  flw;fiu    khepyk; 

 a.  nfhq;fd; flw;fiu  1. Nfush 
 b.  Nrho kz;lyf; flw;fiu 2. kfhuh~;buh 
 c. kyghh; flw;fiu   3. jkpo;ehL kw;Wk; Me;jpug; gpuNjrk; 
 d. tl rh;f;fhh;   4. xb]h kw;Wk; Me;jpug; gpuNjrk;  

 a b c d  
A 2 4 1 3 
B 4 2 3 1   
C 1 3 4 2  
D 2 3 1 4 

 
76. A sphere and a cylinder have equal volume and equal radius. The ratio of the curved surface 

area of the cylinder to that of the sphere is  

A. 4 : 3   B. 2 : 3  C. 3 : 2  D. 3 : 4 
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xU NfhsKk; xU cUisAk; rk fd msitAk; rk Muj;ijAk; nfhz;Ls;sd.  me;j 
cUisapd; tisgug;G kw;Wk; Nfhsj;jpd; tisgug;Gf;F ,ilNaahd tpfpjk; 

A. 4 : 3   B. 2 : 3  C. 3 : 2  D. 3 : 4 

 

77. Two numbers are in the ratio 3 : 5. If 9 is subtracted from each number, then there are in the 
ratio of 12 : 23. What is second number? 
A. 44   B. 55   C. 66   D. 77 
,uz;L vz;fs; 3 : 5 vd;w tpfpjj;jpy; cs;sd.  me;j xt;nthU vz;zpy; ,Ue;Jk; 9I 
fopj;jhy;> me;j vz;fs; 12 : 23 vd;w tpfpjj;jpy; ,Uf;Fk;.  me;j ,uz;lhtJ vz; vd;d? 
A. 44   B. 55   C. 66   D. 77 
 

78. A bag contains coins of `1, `2 and `5 denomination in the ratio 2 : 3 : 4. If total amount is ` 
280. Find the number of coins of `5 
A. 20   B. 30   C. 35   D. 40 
xU igapy; `1, `2 and `5 tifapyhd ehzaq;fs; 2 : 3 : 4 vd;w tpfpjj;jpy; cs;sd.  nkhj;jj; 
njhifapd; kjpg;G ` 280 vdpy;> `5 kjpg;gpyhd ehzaq;fspd;; vz;zpf;if vd;d? 
A. 20   B. 30   C. 35   D. 40 
 

79. The present ages of A, B and C are in the ratio 8 : 14 : 22 respectively. The present ages of B. C 
and D are in the ratio 21 : 33 : 44 respectively. Which of the following represents the ratio of 
the present ages of A, B, C and D respectively?   
A. 12: 21: 33: 44    B. 12:22:31:44    C. 12 : 21 : 36 : 44     D. None of these  
A, B kw;Wk; C Mfpa %thpd; jw;Nghija taJfs; KiwNa 8 : 14 : 22 vd;w tpfpjj;jpy; cs;sd;.  
B, C kw;Wk; D MfpNahhpd; jw;Nghija taJfs; KiwNa 21 : 33 : 44 vd;w tpfpjj;jpy; cs;sd. 
gpd;tUtdtw;Ws; ve;j xd;W A, B, C kw;Wk; D MfpNahhpd; jw;Nghija taJ tpfpjq;fisf; 
Fwpg;gpLk;?            
A. 12: 21: 33: 44    B. 12:22:31:44    C. 12 : 21 : 36 : 44     D. ,it VJkpy;iy 
 

80. A started a work and left after working for 2 days.  Then B finished the remaining work in 9 
days.  Had A left the work after working for 3 days, B would have finished the remaining 
work in 6 days.  In how many days B alone can finish the work? 
A. 5 days  B. 6 days  C. 10 days   C. 15 days 
A xU gzpiaj; njhlq;fp ,uz;L ehl;fs; nra;J tpl;L gpd;dh; nrd;W tpLfpwhh;. gpd;dh; B 
kPjKs;s gzpia 9 ehl;fspy; nra;J Kbj;J tpLfpwhh;.  A> 3 ehl;fs; gzp nra;j gpwF 
nrd;wpUe;jhy;> kPjpAs;s gzpia B> 6 ehl;fspy; nra;J Kbj;jpUg;ghh;.  B kl;Lk; jdpahf 
me;j Ntiyia vj;jid ehl;fspy; nra;J Kbf;f KbAk;? 

A. 5 ehl;fspy;  B. 6 ehl;fspy;  C. 10 ehl;fspy;  D. 15 ehl;fspy; 
 

81. The diurnal range of temperature is maximum in the 

A. Jaisalmer   B. Delhi C. Mumbai  D. Chennai 
jpdrhp ntg;g tpahg;jp mjpfkhf fhzg;gLk; ,lk; _____ 
A. n[a; rhy;kh;  B. nly;yp C. Kk;ig  D. nrd;id 
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82. Inclusive growth as enunciated  in the 11th Five year plan does not include one of the 
following 
A. reduction of poverty 
B. extension  on employment opportunities  
C. strengthening of capital market 
D. reduction of gender inequality 
fPNo nfhLf;fg;gl;litfSs; gjpndhuhtJ Ie;jhz;L jpl;lj;jp;y; typAWj;jg;gl;l cs;slf;fpa 
tsh;r;rpapy; Nrh;f;fg;glhjJ vJ? 

A. tWik Fiwg;G 
B. Ntiy tha;g;Gfisg; ngUf;Fjy; 

   C. %yjdr; re;ijia tYg;gLj;Jjy; 
D. ghypd Vw;w jho;Tfisf; Fiwj;jy; 

 

83. Consider the following statements 
1. 1st Five Year Plan was based on Harrod Domar Strategy. 
2. 2nd Five Year Plan was based on Nehru-Mahalanobis Strategy 
Which of the statement(s) given above is/are correct? 
A. Only 1  B. Only 2  C. Both 1 and 2  D. Neither 1 nor 2 
fPo;fz;l $w;Wfis Muha;f. 
1. Kjyhk; [e;jhk; Mz;L jpl;lk; `huhl; Nlhkh; cj;jpia mbg;gilahf nfhz;L 
mikf;fg;gl;lJ 
2. ,uz;lhk; Ie;J Mz;Lj; jpl;lk; NeU nk`yNdhgp]; cj;jpia mbg;gilahff; nfhz;lJ 
,tw;Ws; vJ> vit rhp 

A. 1 kl;Lk;   B. 2 kl;Lk;   C. 1 kw;Wk; 2  D. 1 k; 2k; ,y;iy  
 

84. Proclamation of emergency is based on 
A. Recommendation of Council of Ministers 
B. Written Recommendation of Council of Ministers 
C. Written Recommendation of Cabinet 
D. Recommendation of Cabinet 
mtrufhy rl;lk; vjdbg;gilapy; cs;sJ? 
A. mikr;ruitf;FOtpd; ghpe;Jiu 
B. mikr;ruitf;FOtpd; vOj;Jg;g+h;t ghpe;Jiu 
C. mikr;Rf;FOtpd; vOj;Jg;g+h;t ghpe;Jiu 
D. mikr;Rf;FOtpd; ghpe;Jiu 

 
85. Under which Amendment Act, Article 43B and Part IX-B were incorporated  

A. 96th Amendment Act  B. 97th Amendment Act 
C. 94th Amendment Act  D. 98th Amendment Act 
ve;j rl;lj;jpUj;jj;jpd; gb rl;lf;$W 43B kw;Wk; gFjp IXB Mfpait ,izf;fg;gl;Ls;sd? 

  A. 96tJ rl;lj;jpUj;jk;  B. 97tJ rl;lj;jpUj;jk; 
  C. 94tJ rl;lj;jpUj;jk;  D. 98tJ rl;lj;jpUj;jk; 
 

86. Under which Amendment Act was Article 349A inserted into Part XXII of the Constitution? 
A. 55th Amendment Act  B. 56th Amendment Act 
C. 57th Amendment Act  D. 58th Amendment Act 
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ve;j rl;lj;jpUj;jj;jpd;gb murpayikg;G rl;lj;jpd; gFjp XXIIy; rl;lf;$W 349A 
,izf;fg;gl;Ls;sJ? 

A. 55tJ rl;lj;jpUj;jk;  B. 56tJ rl;lj;jpUj;jk; 
C. 57tJ rl;lj;jpUj;jk;  D. 58tJ rl;lj;jpUj;jk; 
 

87. Consider the following Statements 
I. Official Languages are dealt in Article 343 to 351 
II. Official Languages Act was enacted in 1963 
III. B.G Kher was appointed on chairman of official language commission in 1955 
IV. Parliament constituted G.B. Pant Committee in 1957 to examine report of official 

language commission 
Choose the correct code: 
A. I, II are correct   B. I, II, III are correct 
C. I, III, IV are correct  D. All are correct 
gpd;tUk; $w;Wfis Ma;f 
I. Ml;rp nkhopfs; - rl;lf;$W 343 Kjy; 351 tiu 
II. Ml;rp nkhopfs; rl;lk; 1963Mk; Mz;L ,aw;wg;gl;lJ 
III. Ml;rp nkhopfs; Mizaj;jpd; jiytuhf 1955Mk; Mz;L B.G. nfh; epakpf;fg;gl;lhh; 
IV. G.B. ge;j; jiyikapyhd FOtpid ehlhSkd;wk; 1957Mk; Mz;L Ml;rp nkhopfs; 

Mizak; Fwpj;J Ma;T nra;a epakpj;jJ 
,tw;Ws; 

A. I, II rhp  B. I, II, III rhp  C. I, III, IV rhp D. midj;Jk; rhp 
 

88. Name the Indian who received maximum number of Grammy Awards 
A. A.R. Rehman  B. Pandit Ravishankar 
C. Zakir Hussain  D. Ustad Bismillah Khan 
fpuhkp tpUJfis mjpfstpy; ngw;w ,e;jpah; 

A. A.R. u ;̀khd;  B. gz;bl; utprq;fh; 
C. [hfph; `{ird;  D. c];jhj; gp];kpy;yh fhd; 
 

89. Mention the hills present in Vellore District 
i. Javvadu hills  ii. Elagiri hills 
iii. Ratnagiri hills  iv. Kalvarayan hills 

  A. i alone  B. i, ii  C. i, ii, iii  D. All of these 
   NtY}h; khtl;lj;jpy; mike;Js;s kiyfis Fwpg;gpL 
  i. [t;thJ kiy  ii. Vyfphp kiy 
  iii. uj;dfphp kiy  iv. fy;tuhad; kiy 
  A. I kl;Lk;  B. i, ii  C. i, ii, iii  D. ,it midj;Jk; 
  

90. Which country has became the first country to eliminate the transmission of HIV and 
syphilis from mother to baby as announced by the World Health Organisation (WHO) on 1 
July 2015? 
A. India   B. Cuba  C. Canada       D. South Africa 
cyf Rfhjhu epWtdk; [_iy 1> 2015 md;W mwptpj;Js;sgb> vr;Itp kw;Wk; rpgpyp]; 
Neha;fs; jhaplkpUe;J Foe;ijf;Fg; guTtij Kw;wpYkhf jLj;Js;s Kjy; ehL vJ?  

A. ,e;jpah   B. fpa+gh  C. fdlh       D. njd; Mg;hpf;fh 
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91. Which Indian City was in July 2015, chosen as “City of Music” 
   by UNESCO under the Creative Cities Network? 
A. Guwahati    B. Chennai  C. Varanasi  D. Kolkata 
Mf;f efuq;fs; tiyaikg;gpy; (Creative Cities Network)> And];Nfh mikg;gpdhy;> ‘,ir 
efuk;’ Mf [_iy 25y; Njh;e;njLf;fg;gl;l ,e;jpa efuk; vJ?  

A. nfs`hj;jp   B. nrd;id  C. thuzhrp  D. nfhy;fj;jh 
 

92. Who was the first person to use the term ‘hartal’ in 1919? 
A. B.G. Tilak   B. P.C. Joshi  C. S.N. Banerjee   D. Gandhi 
1919Mk; `h;jhy; vd;w thh;j;ijia Kjd;Kjypy; gad;gLj;jpath;? 

A. gp.[p. jpyfh; B. gp.rp. N[h~p C. v];.vd;. ghdh;[p  D. fhe;jp 
 

93. Who described the 1935 Act as “thoroughly rotten, fundamentally bad and totally 
unacceptable”? 
A. J.L. Nehru  B. V.B. Patel   C. M.A. Jinnah  D. M.K. Gandhi 
1935Mk; Mz;L rl;lj;ij “tPzhd> mbg;gilapy; jtwhd> Kw;wpYk; Vw;Wf;nfhs;s ,ayhj 
rl;lk;” vdf;$wpath;? 

A. J.L. NeU  B. V.B. gl;Nly;  C. M.A. [pd;dh  D. fhe;jp 
 

94. Absence of true nucleus and membrane bound organells - these are the characters of 
A. actinomycetes and cyanobacteria  B. actinomycetes and fungi 
C. fungi and cyanobacteria    D. fungi and protista 
“njspthd cl;fU kw;Wk; rt;tpdhy; #og;glhj nry; cWg;Gfs;” ,it fhzg;gLtJ. 

A. Mf;bNdhikrPl;]; kw;Wk; raNdhghf;Bhpah B. Mf;bNdhikrPl;]; kw;Wk; g+Q;ir 
C. g+Q;ir kw;Wk; raNdhghf;Bhpah  D. g+Q;ir kw;Wk; g+Nuhb];lh 
 

95. Find the wrong pair. 
A. Puccinia  - Parasite 
B. Rhizopus  - Saprophytic 
C. Spirillum  - Chemosynthetic 
D. Euglena  - Myxotrophic 
jtwhd ,iziaf; fz;lwp. 

A. gf;rPdpah  - xl;Lz;zp 

B. iuNrhg];  - rhWz;zp 

C. ];ighpy;yk; - fPNkh rpe;jbf; 

D. a+f;spdh  - kpf;Nrhl;Nuhgpf; 

 

96. A can type 30 words in 1 minute and B 25 words in 1 minute.  First A typed for 1 minute then 
B typed for 1 minute and so on.  In this way, typing alternatively they 600 words.  The time 
taken by them in typing these 600 words was: 
A. 22 minutes B. 21 minutes  C. 21 min 48 sec D. 21 min 25 sec 
A, xU epkplj;jpy; 30 thh;j;ijfisj; jl;lr;R nra;thh;.  B,  xU epkplj;jpy; 25 thh;j;ijfisj; 
jl;lr;R nra;thh;. Kjypy; A xU epkplk; jl;lr;R nra;jhh;> gpd;dh; B xU epkplk; jl;lr;R 
nra;jhh;.  ,t;thwhf mth;fs; khwp khwp jl;lr;R nra;J 600 thh;j;ijfisj; jl;lr;R nra;J 

Kbj;jdh;.  ,e;j 600 thh;;j;ijfisj; jl;lr;R nra;tjw;F mth;fs; vLj;Jf; nfhz;l Neuk;: 
A. 22 epkplq;fs;    B. 21 epkplq;fs;  
C. 21 epkplq;fs; 48 tpdhbfs;  D. 21 epkplq;fs 25 tpdhbfs; 
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97. Pipe A can fill in 20 minutes and Pipe B in 30 mins and Pipe C can empty the same in 40 
mins.If all of them work together, find the time taken to fill the tank  
A. 17 1/7 mins B. 20 mins  C. 8 mins  D. none of these 
A Foha; 20 epkplq;fspy; epug;GfpwJ.  B Foha; 30 epkplq;fspy; epug;GfpwJ.  ,ij C Foha;> 40 
epkplq;fspy; fhyp nra;J tpLk;. vy;yh Foha;fSk; xd;whfr; Nrh;e;J Ntiy nra;aj; 
njhlq;fpdhy;> me;jj; njhl;bia epug;g nra;tjw;F MFk; Neuj;ijf; fzf;fplTk;.  
A. 17 1/7 epkplq;fs;    B. 20 epkplq;fs;  
C. 8 epkplq;fs;    D. ,tw;wpy; vJTkpy;iy 
 

98. Study the following Histogram and answer following question nos. 
gpd;tUk; guty; nrt;tfg;glk; tiuglj;ijf; ftdpj;J tpl;L> fPNo nfhLf;fg;gl;Ls;s 
tpdhf;fSf;F tpilaspf;fTk;. 

 
The maximum number of students got the marks in the interval of 
mjpf vz;zpf;ifapyhd khzth;fs; ve;j ,il kjpg;ngz;fspy; cs;sdh;. 

A. 10-20            B. 20 - 30                C. 30 - 40                 D. 40 – 50 
 
99. In a certain country, allocations to various sectors of the yearly budget per ?  

`1000 crores are represented by this pie-diagram. The expenditure (in `) on Agriculture is 

 
A. 250 crore        B. 150 crore      C. 300 crore        D. 200 crore 
xU Fwpg;gpl;l ehl;by;> xU Mz;bd; tuT nryTj; jpl;l kjpg;gPl;by;> gy;NtW JiwfSf;fhd 

xJf;fPLfs;> `1000 Nfhbfshf gpd; tUk; ig - tiuglj;jpy; nfhLf;fg;gl;Ls;sd. 

Ntshz;ikf;fhd nrytpdk; (` kjpg;gpy;) ________ MFk;. 
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A. 250 Nfhb         B. 150 Nfhb      C. 300 Nfhb        D. 200 Nfhb 
 

100. The present population of a city is 180000.  If it increases at the rate of 10% per annum, its 
population after 2 years will be: 
A. 207800  B. 227800  C. 217800  D. 237800 
xU efuj;jpd;; jw;Nghija kf;fs; njhif 180000 MFk;.  ,J xU Mz;Lf;F 10 rjtPjk; vd;w 
tPjj;jpy; mjpfhpj;jhy;> 2 Mz;Lfs; fopj;J mjd; kf;fs; njhif vt;thW ,Uf;Fk;? 

A. 207800  B. 227800  C. 217800  D. 237800 
 
101. The first feminist in India was: 

A. Raja Ram Mohan Roy  B. Rabindranath Tagore 
C. Debendranath Tagore  D. Keshava Chandra Sen 
,e;jpahtpd; Kjy; ngz;zpathjp? 

A. ,uh[huhk; Nkhfd; uha;  B. ,ugPe;jpuehj; jh$h; 
C. NjNge;jpuehj; jh$h;  D. Nfrt re;jpu nrd; 
 

102. Which movement started as movement against reduction of rent and grant of permanent 
tenure in land, but later on assumed a communal completion? 
A. Moplah Revolt   B. Santhal Uprising 
C. Kheda Uprising   D. Indigo Uprising 
epy rPh;jpUj;j Nghuhl;lkhf njhlq;fp tFg;Gthj rhak; g+rg;gl;l Nghuhl;lk; vJ? 

A. khg;sh fpsh;r;rp   B. rhe;jy; fpsh;r;rp 
C. Nfjh fpsh;r;rp   D. ,d;bNfh fpsh;r;rp 
 

103. As per an announcement made in August 2015, which district of kerala is on its way to be 
declared as the first total HIV/AIDS  literate district in the country after a special project 
titled” Jyothirgamaya” was implemented with the co-operation of 91 gram panchayats and 
four municipalities in the district? 
A. Palakkad   B.Ernakulam            C. Erode   D.Thiruvananthapuram  
Mf];l; 2015y; Nkw;nfhs;sg;gl;l xU mwptpg;gpd;gb> Nfushtpd; ve;j khtl;lk;> 91 fpuhk 
Cuhl;rpfs; kw;Wk; ehd;F Ng&uhl;rpfspd; xj;Jiog;Gld; “N[hjph;fhkah” vd;w rpwg;Gj; jpl;lk; 

nray;gLj;jg;gl;lij mLj;J ehl;bNyNa vr;Itp / va;l;]; mwpT ngw;w KjyhtJ khtl;lkhf 
mwptpf;fg;gl jahuhf cs;sJ?  

A. ghyf;fhL   B.vh;zhFsk;  C. <NuhL  D.jpUtde;jGuk; 
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104. The birth centenary celebration of Rani Gaidinliu was inaugurated by Prime Minister 
Narendra Modi on 24 August 2015. On this occasion a commemorative coin was released to 
recall Rani’s contribution to India’s freedom struggle. Rani Gaidinliu was associated with 
which India state? 
A. Assam   B. Tripura   C.Nagaland   D.Manipur  
gpujk ke;jphp eNue;jpu Nkhbahy; 24 Mf];l; 2015 md;W uhzp nfa;bd;ypA+tpd; E}w;whz;L 
gpwe;j ehs; nfhz;lhl;lq;fs; njhlq;fp itf;fg;gl;ld.  ,e;jf; nfhz;lhl;lq;fspd; epidthf> 
,e;jpahtpd; Rje;jpug; Nghuhl;lj;jpw;F ,uhzp Mw;wpAs;s gq;if epidT $Wtk; tifapy; xU 
epid tpy;iy ntspaplg;gl;lJ.  uhzp nfa;bd;ypA ,e;jpahtpd; ve;j khepyj;NjhL njhlh;G 
nfhz;lth;?  

A. m];]hk;   B. jphpGuh   C. ehfhyhe;J   D. kzpg;g+h; 
 

105. The Cauvery River Water Tribunal and Cauvery River Water Commision were established 
respectively in 
A. 1990 & 1996  B. 1990 & 1997 C. 1992 & 1997  D. 1990 & 2000 
fhNthp ejp ePh; Mizak; kw;Wk; fhNthp ejp ePh; FO njhlq;fg;gl;l Mz;Lfs; KiwNa 

A. 1990 & 1996  B. 1990 & 1997 C. 1992 & 1997  D. 1990 & 2000 
 

106. Which among the following is called as Ecological Paradise? 
A. Sunderbans  B. Gulf of Mannar 
C. Gulf of Khambat  D. Lakshadweep 
gpd;tUtdtw;Ws; Rw;Wr;#oy; nrhh;f;fk; vd;W miof;fg;gLtJ vJ? 

A. Re;jutdf;fhLfs; B. kd;dhh; tisFlh 
C. fhk;Ng tisFlh D. ,yl;r jPT 
 

107. Consider the following statements 
I. Lokayukta was first established in Maharastra in 1971 
II. Odissha passed the Act in 1970 but Lokayukta came into force in 1983 
Choose the correct code: 
A. I only correct  B. II only correct 
C. Both are correct  D. None of these 
gpd;tUk; $w;Wfis Ma;f 
I. kfhuh~;buj;jpy; 1971Mk; Mz;L Nyhf; MAf;jh cUthf;fg;gl;lJ 
II. 1970Mk; Mz;L xbrhtpy; Nyhf; MAf;jh rl;lk; ,aw;wg;gl;L 1983Mk; Mz;L eilKiwf;F 

te;jJ 
,tw;Ws; 

A. I kl;Lk; rhp  B. II kl;Lk; rhp 
C. ,uz;Lk; rhp  D. ,it VJkpy;iy 

 
108. Consider the following statements 

I. CVC was established in 1964 by executive resolution of Government of India  
II. CVC got statutory status in 2004 
III. CVC was recommended by Santhanam Committee 
Choose the correct code: 
A. I alone is correct  B. I, III are correct 
C. II, III are correct  D. All are correct 
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gpd;tUk; $w;Wfis Ma;f 
I. kj;jpa Coy; fz;fhzpg;G Mizak; 1964Mk; Mz;L cUthf;fg;gl;lJ 
II. 2004Mk; kj;jpa Coy; fz;fhzpg;G Mizaj;jpw;F rl;l mq;fPfhuk; toq;fg;gl;lJ 
III. kj;jpa Coy; fz;fhzpg;G Mizak; re;jhdk; FOtpdhy; ghpe;Jiu nra;ag;gl;lJ 
,tw;Ws;  

A. I kl;Lk; rhp B. I, III rhp  C. II, III rhp  D. midj;Jk; rhp 
  

109. Consider the following Statements 
I. Human Rights Act was enacted in 1993 
II. National Human Rights Commission is a Constitutional body 
III. Human Rights Act was amended in 2005 
Choose the correct code: 
A. I alone is correct  B. I, II are correct 
C. I, III are correct  D. All are correct 
gpd;tUk; $w;Wfis Ma;f 
I. 1993Mk; Mz;L kdpj chpikfs; rl;lk; ,aw;wg;gl;lJ 
II. Njrpa kdpj chpikfs; Mizak; xU murpayikg;G rl;lj;jhy; cUthf;fg;gl;lJ 
III. kdpj chpikfs; rl;lj;jpy; 2005Mk; Mz;L jpUj;jk; nra;ag;gl;lJ 
A. I kl;Lk; rhp  B. I, II rhp 
C. I, III rhp   D. midj;Jk;  
 

110. Consider the following statements 
1. IMF and World Bank both are Bretton Wood heir. 
2. IMF provides long-term loan for promoting balance economic development. 
3. IMF provides loans to eliminate BoP disequilibrium. 
Which of the statement(s) given above is/are correct? 
A. 1 and 2  B. 2 and 3  C. 1 and 3  D. All of these 
fPo;fz;l $w;Wfis Muha;f 
1. gd;dhl;L epjpafk; kw;Wk; cyf tq;fp Mfpa ,uz;Lk; gpnul;ld; cl;bd; thhpR  
2. gd;dhl;L epjpafk; rhprk nghUshjhu tsh;r;rpf;F ePz;l fhy fld; toq;FfpwJ.  
3. tuT nryT rkepiyapy; rkepiyapd;ikia jtph;f;f gd;dhl;L epjpafk; fld; toq;FfpwJ  

,f;$w;WfSs; vJ / vit rhp  
A. 1 kw;Wk; 2 B. 2 kw;Wk; 3  C. 1 kw;Wk; 3 D. ,it midj;Jk;  

 
111. The states with highest sex ratio in descending order are (2011 Census) 

A. Puducherry, Andhra Pradesh, Tamil Nadu, Manipur 
B. Puducherry, Tamil Nadu, Andhra Pradesh, Manipur 
C. Tamil Nadu, Andhra Pradesh, Puducherry, Manipur 
D. Tamil Nadu, Puducherry, Andhra Pradesh, Manipur 
ghypd tpfpjk; mjpfk; cila khepyq;fis ,wq;F thpirg; gLj;Jf 

A. GJr;Nrhp> Me;jpug;gpuNjrk;> jkpo;ehL> kzpg;G+h; 
B. GJr;Nrhp> jkpo;ehL> Me;jpug;gpuNjrk;> kzpg;G+h; 
C. jkpo;ehL> Me;jpug;gpuNjrk;> GJr;Nrhp> kzpg;G+H; 
D. jkpo;ehL> GJr;Nrhp> Me;jpug;gpuNjrk;> kzpg;G+h; 
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112. With reference to soil conservation, consider the following 

1. Afforestation 2. Contour  3. Crop rotation 4. Terracing 
Which of the above are considered appropriate methods for soil conservation in India? 
A. 1, 2 and 3 only  B. 2 and 4 only 
C. 1, 3 and 4 only  D. 1, 2, 3 and 4 
kz; ghJfhg;G njhlh;ghf gpd;tUtdtw;iw Ma;f 
1. fhL tsh;g;G 2. tpspk;G  3. gaph; Row;rp 4. Nky; jsk; mikj;jy; 

Nkw;fz;ltw;Ws; ,e;jpahtpw;Fg; nghUj;jkhdJ vdf; fUjg;gLk; kz; ghJfhg;G Kiw vJ? 
A. 1> 2 kw;Wk; 3 kl;Lk; B. 2 kw;Wk; 4 kl;Lk; 
C. 1> 3 kw;Wk; 4 kl;Lk; D. 1> 2> 3 kw;Wk; 4 
 

113. Match List I with List II and select the correct answer by using the code given below. 

List I    List II 
  (Wild Life Sanctuary)  (State) 

 a. Ranthambore   1. Rajasthan 
 b. Kolleru    2. Punjab 
 c. Abohar    3. Andhra Pradesh 
 d. Keibul Lamjao   4. Manipur 
  a b c d  
 A 2 4 1 3 
 B 1 3 2 4  
 C 3 2 4 1 
 D 4 1 3 2  

gl;bay; I I> gl;bay; II cld; nghUj;jp> gpd;tUk; FwpaPLfisg; gad;gLj;jp rhpahd tpiliaj; 
Njh;e;njLf;fTk. 

gl;bay; I    gl;bay; II 
 (td tpyq;F ruzhyak;)  (khepyk;) 

 a. ue;jk;Nghh;    1. uh[];jhd; 
 b. nfhy;NyW   2. gQ;rhg; 
 c. mNghfhh;    3. Me;jpug; gpuNjrk; 
 d. nfa;g+y; yk;rht;   4. kzpg;g+h; 
  a b c d  
 A 2 4 1 3 
 B 1 3 2 4  
 C 3 2 4 1 
 D 4 1 3 2  
 

114. Which Of The Following Statements is / are Correct about The Vernacular Press Act, 1878? 
I.It Was Passed By Lord Mayo 
II. It Came To Be Known As The Gagging Act 
III. It Liberated The Indian Press From Restrictions 
IV. It Was Replaced By Lord Ripon In 1882. 
Select The Answer From The Codes Given Below: 
A. I & II  B. II & IV  C. I & III  D. III & IV 
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gpd;tUtdtw;Ws; tl;lhu nkhop rl;lk; 1878 gw;wpa $w;Wfspy; vJ / vit rhpahdJ? 
I. ,r;rl;lk; NkNahthy; ntspaplg;gl;lJ 
II. tha;g;g+l;Lr; rl;lk; vd;w ngaUk; ,jw;Fz;L 
III. ,r;rl;l jilfis tpyf;fp ,e;jpa gj;jphpiffSf;F Rje;jpuk; toq;fpaJ 
IV. ,r;rl;lj;ij 1882y; hpg;gd; ePf;fpdhh; 
,tw;Ws; 

A. I & II  B. II & IV  C. I & III  D. III & IV 
 

115. The Women’s Movement in India started largely under the inspiration of  
A. Mrs.Annie Besant  B. Sarojini Naidu   
C. Ramabai Ranade   D. Muthulakshmi Reddy 

 ,e;jpahtpy; ngz;fs; ,af;fk; Njhd;w fhuzkhf ,Ue;jth; 

 A. md;dpngrd;l;   B. rNuh[pdp ehAL 
 C. ,ukhgha; uhdNl  D. Kj;Jyl;Rkp nul;b 
 

116. At what rate percent per annum of compound interest, annually, will a sum be 16 times of 
itself in 4 years? 
A. 400%  B. 200%  C. 125%  D. 100% 
xU Fwpg;gpl;l njhif> xU Mz;Lf;F vj;jid rjtPj $l;L tl;bapy;  4 Mz;Lfspy; mijg; 
Nghy 16 klq;F MFk;?  

A. 400%  B. 200%  C. 125%  D. 100% 
 
117. A sum of money amounts to ` 5200 in 5 years and to ` 5680 in 7 years at simple interest.  The rate of 

interest per annum is 
A. 3%  B. 4%  C. 5%  D. 6% 
xU Fwpg;gpl;l njhif 5 tUlq;fspy; ` 5200 MfTk; NkYk; 7 tUlq;fspy; ` 5680 MfTk; Kjph;T 
milfpwJ. vdpy; tl;b tPjk; Mz;Lf;F vj;jid rjtPjk; 

A. 3%  B. 4%  C. 5%  D. 6% 
 

118. The difference between simple and compound interest on a certain sum of money for 2 years 
at 4% p.a. is ` 4.  The sum is: 
A. ì 2500  B. ì 2400  C. ì 2600  D. ì 2000 
xU Fwpg;gpl;l njhiff;F 2 Mz;L fhyj;jpw;F rhjhuz tl;b kw;Wk; $l;L tl;b tPjj;jpy; 

t#ypf;fg;gLk; njhiffSf;F ,ilNaahd tpj;jpahrk; ` 4 vdpy;> mj;njhif vt;tsT? 
 A. ì 2500  B. ì 2400  C. ì 2600  D. ì 2000 
 
119. Four different positions of the same dice are shown below. Find the number on the face 

opposite the face showing 4 ? 
A.  5  B.  3  C.  2  D.  1 
xNu gfilapd; 4 ntt;NtW epiyfs; fPNo nfhLf;fg;gl;Ls;sd.  4 vd;w vz; cs;s 
gf;fj;jpd; vjpNu cs;s vz; vJ? 

 
A.  5  B.  3  C.  2  D.  1 
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120. Find out the wrong number in the sequence.   
5, 7, 13, 25, 44, 75, 117 
A. 7   B. 13  C. 25  D. 44 
gpd;tUk; njhlh;thpirapy; jtwhd vz; vd;d? 

5, 7, 13, 25, 44, 75, 117 
A. 7   B. 13  C. 25  D. 44 
 

121. Consider the following pairs : 

Minerals   Largest Producer 
 1. Iron Ore   - Chhattisgarh 
 2. Bauxite   - Odisha 
 3. Mica   - Andhra Pradesh 
 4. Gold   - Karnataka 
 Which of the above pairs is/are correctly matched? 

A. 1 only B. 2 and 3 only C. 2, 3 and 4 only   D. 1, 2 and 3 only 
gpd;tUk; N[hbfisf; ftdpf;fTk; : 

fdpkq;fs;   mjpfkhf cw;gj;jp nra;Ak; khepyk; 
 1. ,Uk;Gj; jhJ  - rj;jP];fh; 
 2. ghf;irl;   - xbrh 
 3. ikfh   - Me;jpug; gpuNjrk; 
 4. jq;fk;   - fh;ehlfh 
 Nkw;fz;ltw;Ws; ve;j N[hb / N[hbfs; rhpahfg; nghUe;jpAs;sd? 

A. 1 kl;Lk;    B. 2 kw;Wk; 3 kl;Lk;  
C. 2, 3 kw;Wk; 4 kl;Lk;   D. 1, 2 kw;Wk; 3 kl;Lk; 
 

122. Which of the following pair is/are correctly matched? 

 Nuclear Power Plant   State 
1. Narora    - Uttar Pradesh 
2. Kakrapara    - Maharashtra 
3. Kota    - Andhra Pradesh 
A. Only 1  B. Only 1 and 2  C. 1, 2 and 3  D. None 
gpd;tUtdtw;Ws; ve;j ,iz / ,izfs; rhpahfg; nghUe;jpAs;sd? 
 mZ rf;jp Miy   khepyk; 
1. eNuhuh   - cj;jug; gpuNjrk; 
2. fhf;fughuh   - k`huh~;buh 
3. Nfhl;lh   - Me;jpug; gpuNjrk; 
A. 1 kl;Lk;  B. 1 kw;Wk; 2 kl;Lk;  C. 1, 2 kw;Wk; 3 D. vJTkpy;iy 
 

123. Which of the following pair is incorrect? 
State    Population Density 
I. West Bengal   1102 
II. Kerala    859 
III. Tamil Nadu   555 
IV. Arunachal Pradesh  19 
V. Mizoram    50 
A. I, II, IV  B. I, III, V   C. I, IV, V  D. II, III, V 
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fPo;fz;ltw;wpy; jtwhd ,iz? 
khepyk;    kf;fs; njhif mlh;j;jp   
I. Nkw;F tq;fhsk;   1102 

II. Nfush    859 

III. jkpo;ehL    555 

IV. mUzhr;ryg; gpuNjrk;  19 

V. kpNrhuk;    50 
A. I, II, IV  B. I, III, V   C. I, IV, V   D. II, III, V 

 
124. Consider the following 

  UN Security council 
i. Composition – 15 members 

ii. 5 permanent and 10 non permanent members 
iii. All 15 members have Veto powers 
iv. 10 Non permanent elected for 5 years term 

  A. i, ii are correct  B. i, ii, iii are correct 
  C. i, ii, iv are correct D. All are correct 
  gpd;tUtdtw;iw Ma;f 
  I.eh. ghJfhg;G rig 

i. 15 cWg;gpdh;fis cs;slf;fpaJ 
ii. ,jpy; 5 epue;ju cWg;gpdh;fs; kw;Wk; 10 jw;fhypf cWg;gpdh;fs; Mth; 

iii. midj;J 15 cWg;gpdh;fSk; tPl;Nlh mjpfhuk; nfhz;lth;fs; 
iv. 10 jw;fhypf cWg;gpdh;fSk; 5 Mz;LfSf;F xUKiw Njh;e;njLf;fg;gLfpd;wdh;. 

  A. i, ii rhp  B. i, ii, iii rhp  C. i, ii, iv rhp  D. midj;Jk; rhp 
 

125. Consider the following statements 
I. NDC was established in 1952 by Act of Parliament 
II. NDC is a statutory body  
Choose the correct code: 
A. I alone correct   B. I, II are correct 
C. Both are correct   D. Both are worng  
gpd;tUk; $w;Wfis Ma;f 
I. 1952Mk; Mz;L Njrpa tsh;r;rpf;FO ehlhSkd;w rl;lj;jhy; cUthf;fg;gl;lJ 
II. Njrpa tsh;r;rpf; FO xU rl;l mikg;ghFk; 
,tw;Ws; 

A. I kl;Lk; rhp   B. I, II rhp 
C. ,uz;Lk; rhp   D. ,uz;Lk; jtW 
 

126. Special officer for Linguistic Minorities is appointed by president under which Article? 
A. 349  B. 350  C. 350A  D. 350B 
ve;j rl;lf;$wpd; gb FbauRj; jiyth; nkhop rpWghd;ikapdUf;fhd rpwg;G mYtyiu 
epakpf;fpwhh;? 

A. 349  B. 350  C. 350A  D. 350B 
 

127. Which of the following states attained direct state hood? 
A. Haryana  B. Mizoram  C. Arunachal Pradesh  D. Goa 
gpd;tUtdtw;Ws; ve;j khepyk; Neub khepy jFjpiag; ngw;wJ? 

A. `hpahdh  B. kpNrhuk;  C. mUzhr;rygpuNjrk;  D. Nfhth 
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128. Consider the following 
I. Southern Railway has 6 zones 
II. 4 zones are present in Tamilnadu 
A. I alone correct  B. II alone correct 
C. Both are correct  D. Both are wrong 
gpd;tUtdtw;iw Ma;f 
I. njw;F ,uapy;Nt 6 kz;lyq;fis nfhz;Ls;sJ 
II. ,tw;Ws; 4 kz;lyq;fs; jkpofj;jpy; cs;sd 
A. I kl;Lk; rhp  B. II kl;Lk; rhp 
C. ,uz;Lk; rhp  D. ,uz;Lk; jtW 

 
129. Find out the incorrect pair 

A. Ennore – Thermal Power Plant 
B. Kundah – Hydro Power Plant 
C. Papanasam – Thermal Power Plant 
D. Kalpakkam – Atomic Power Plant 
jtwhd ,iziaf; fz;lwp 

A. vz;Z}h; - mdy; kpd;epiyak; 

B. Fe;jh – ePh; kpd; epiyak; 

C. ghgehrk; - mdy; kpd;epiyak; 
D. fy;ghf;fk; - mZ kpd; epiyak; 

 
130. Find out the incorrect pair 

A. Budget – James Wilson 
B. Statistics – Mahalanobis 
C. Atom bomb – Raja Rammanah 
D. Vanamahotsava – Vinoba Bhave 
jtwhd ,iziaf; fz;lwp 

A. epjpepiy mwpf;if – N[k;]; tpy;rd; 

B. Gs;spapay; - k`yNdhgp]; 
C. mZFz;L – ,uh[h uhkd;dh 

D. tdkN`hj;rtk; - tpNdhgh ghNt 
 
131. Tamil Nadu is a leading producer of mill made cotton yarn in the country. What could be 

reason (s)? 

1. Black cotton soil is the predominant type of soil in the State. 
2. Rich pool of skilled labour is available. 
A. 1 only  B. 2 only C. both 1 and 2 D. neither 1 nor 2 
ehl;bNyNa Miyapy; cw;gj;jp nra;ag;gLk; gUj;jp E}y; cw;gj;jpapy; jkpo;ehL Kd;dpiy 

tfpf;fpwJ.  ,jw;fhd fhuzk;  / fhuzq;fs; vd;dthf ,Uf;Fk;? 
1. khepyj;jpy; mjpfkhf fhpry; kz; fhzg;gLtJ. 
2. mjpf mstpyhd cly; ciog;G njhopyhsh;fs; ,q;F cs;sdh;.  
rhpahd tpiliaj; Njh;e;njLf;fTk;. 
A. 1 kl;Lk;  B. 2 kl;Lk;   C. 1 kw;Wk; 2    D. ,uz;LNk ,y;iy 
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132. Which is the most important characteristic of the Golden Quadrilateral? 

A. Connecting four major cities of the country 
B. Providing port connectivity 
C. North South corridor 
D. East West corridor 
jq;f ehw;fu rhiyapd; Kf;fpakhd mk;rk; vd;d? 
A. ehl;bd; ehd;F nghpa efuq;fis ,izf;fpwJ 
B. JiwKf ,izg;G toq;FfpwJ 
C. tlf;F njw;F ghij 
D. fpof;F Nkw;F ghij 
 

133. Which state led in employment generation in manufacturing sector in the country in 2012-13, 
according to and analysis released by the Associated chambers of commerce and Industry of 
India (ASSOCHAM) in August  2015? 
A. Madhya Pradesh  B. Tamil Nadu  C. Maharashtra  D. Gujarat 
,e;jpa th;j;jf kw;Wk; njhopy; th;j;jf rq;fq;fspd; $l;likg;G (ASSOCHAM) Mf];l; 2015y; 
ntspapl;l Ma;twpf;ifapd;gb> 2012-13 fhy fl;lj;jpy; cw;gj;jpj; njhopypy; mjpf Ntiy 
tha;g;Gfis cUthf;fp> Kd;dzpapy; jpfOk; khepyk; vJ?  

A. kj;jpag; gpuNjrk;   B. jkpo;ehL   C. kfhuh~;buh  D. F[uhj; 
 

134. Which state government on 31 August 2015, inaugurated the state’s first One stop centre, 
known as Sakhi, that will play a role in helping the women in distress? 
A. Bihar   B.Uttar Pradesh   C. Haryana   D. Rajasthan  
Jauj;jpy; thLk; ngz;fSf;F cjTtjw;fhf> rfp (Sakhi) vd;W miof;fg;gLk;> midj;J 
NritfisAk; nra;af;$ba khepyj;jpd; KjyhtJ xw;iw ikaj;ij ve;j khepy muR 31 
Mf];l; 2015 md;W njhlq;fp itj;jJ? 

A. gPfhh;  B. cj;jug; gpuNjrk;   C. `hpahdh  D. uh[];jhd;  
 

135. Match the following : 
Cell wall      Wall material 
a. Bacterial cell wall   1. Lignin 
b. Plant cell wall   2. Chitin 
c. Fungal cell wall   3. Peptido glycan 
d. Secondary cell wall  4. Cellulose 

a b c d  
A 1 4 3 2 
B 3 4 1 2  
C 3 4 2 1 
D 4 2 3 1 
FwpaPLfisg; gad;gLj;jp ,izf;f. 
nry;Rth;     Rth;g;nghUs; 

a.  ghf;Bhpa nry; Rth;   1. ypf;dpd; 
b. jhtu nry; Rth;    2. ifl;bd; 
c. g+Q;irapd; nry; Rth;   3. ngg;bNlhfpisfd;  
d. ,uz;lhk; epiy nry; Rth;  4. nry;YNyh]; 
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a b c d  
A 1 4 3 2 
B 3 4 1 2  
C 3 4 2 1 
D 4 2 3 1 

 
136. Find the next term of the sequence: 

1, 4, 27, 256, 3125, 46656, ? 
njhlhpd; mLj;j cWg;igf; fhz;f: 

A. 117649  B. 279936  C. 705894  D. 823543 
 

137.  

5 6 7 

3 4 5 

9 10 11 

345 460 ? 

 
A. 535  B. 577  C. 755  D. 775 
 

138. For the following data   -1,1,0,2,3,5,5,6,8,10,11 
A. Mean = Mode =Median   B. Mean = Mode 
C. Mode = Median    D. Mean = 5 
gpd;tUk; Gs;sp tptuq;fSf;F  -1,1,0,2,3,5,5,6,8,10,11 
A. ruhrhp = KfL = ,ilepiy  B. ruhrhp = KfL  
C. KfL = ,ilepiy    D. ruhrhp = 5 
 

139. ejo, tyd, ins, xch, ? 
A. nrw  B. mrw  C. msx  D. nsx 
 

140. A, B, C, D, E and F are sitting on the opposite sides of a dining table, three on each side.  B is 
between A and C.  The politician and the Businessman are at the extremes of one side.  E is a 
Military Officer.  C is a professor and is by the side of the Doctor.  The businessman is 
opposite to the Engineer.  The Doctor is in the middle and is facing the Military Officer.  Who 
is the Doctor? 
A. A  B. B   C. C   D. D 
A, B, C, D, E kw;Wk; F xU Nki[apy; %d;W Ngh; xU gf;fkhf vjph; vjpNu mkh;e;Js;sdh;. B 
vd;gth; A kw;Wk; C-f;F eLtpy; mkh;e;Js;shh;. murpay;thjpAk;> tzpfUk; ,uz;L 

filf;Nfhbapy; mkh;e;J ,Ue;jdh;. E vd;gth; ,uhZt mjpfhhp> C vd;gth; Nguhrphpah;> ,th; 
lhf;lh; mUfpy; mkh;e;jpUe;jhh;. tzpfh;> nghwpahsUf;F vjph;g;gf;fj;jpy; mkh;e;jpUe;jhh;. lhf;lh; 
eLtpy; mkh;e;jpUe;jhh;. ,th; ,uhZt mjpfhhpia ghh;j;jthW mkh;e;jpUe;jhh; vdpy;> lhf;lh; 
ahh;? 

A. A  B. B   C. C   D. D 
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141. Which of the following statements about the World Wide Fund for Nature is/are correct 
i. Founded in 1961  ii. Headquarters – Switzerland 
iii. Symbol – Panda  iv. Organise earth hour yearly 
A. i, ii correct   B. i, iii, iv correct 
C. i, ii, iii correct  D. All are correct 
gpd;tUtdtw;Ws; ,aw;iff;fhd cyfshtpa epjpak; gw;wpa $w;Wfspy; vJ / vit rhp? 
i. njhlf;fk; - 1961  ii. jiyikafk; - Rtpl;rh;yhe;J 
iii. rpd;dk; - ghd;lh  iv. Mz;LNjhWk; Gtp Neuj;ij elj;JfpwJ 
A. i, ii rhp   B. i, iii, iv rhp 
C. i, ii, iii rhp   D. midj;Jk; rhp 
 

142. Which of the following states has the highest density of roads? 

A. Kerala B. Karnataka  C. Goa D. Tamil Nadu 
gpd;tUk; khepyq;fspy; vjpy; mjpf mlh;j;jpahd rhiyfs; cs;sd? 
A. Nfush B. fh;ehlfh  C. Nfhth D. jkpo;ehL 
 

143. Arrange The Following Organisations In Chronological Order 
1. East India Association 
2. Landholders Society 
3. Madras Native Association 
4. Bengal British Indian Society 
5. British Indian Association 
Select The Answer From The Codes: 
A. 2,3,1,4&5  B. 1,4,3,5&2  C.3,5,4,1&2  D. 2,4,5,3&1 
gpd;tUk; fofq;fis fhythpirg;gLj;Jf 
1. fpof;fpe;jpa fofk; 
2. epyr;Rthd;jhh; rq;fk; 
3. nrd;id RNjr rq;fk; 
4. tq;fhs Mq;fpy ,e;jpa fofk; 
5. Mq;fpy ,e;jpa fofk; 
,tw;Ws;  

A. 2,3,1,4&5  B. 1,4,3,5&2  C.3,5,4,1&2  D. 2,4,5,3&1 
 

144. Who became the president of the All India states ‘people’ conference in 1939? 
A. Subhash Chandra Bose  B. Jawaharlal Nehru 
C. C. Rajagopalachari  D. Mahatma Gandhi 

 mfpy ,e;jpa khepy kf;fs; khehL jiytuhf 1939y; Njh;e;njLf;fg;gl;lth;? 

 A. Rgh~; re;jpuNgh];  B. [t`h;yhy; NeU 
 C. rp. uh[Nfhghyhr;rhhpahh;  D. kfhj;kh fhe;jp 
 

145. The dimensional formula for gravitational constant is ……. 
A. M1L3T-2  B. M-1 L3T-2  C. M-1 L-3T-2  D. M1 L-3T2 

<h;g;gpay; khwpypapd; ghpkhz tha;g;ghL -------------. 

A. M1L3T-2  B. M-1L3T-2  C. M-1L-3T-2  D. M1L-3T2 
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146. A block of ice in a room at normal temperature….. 
A. does not radiate 
B. radiates less but absorbs more 
C. radiates more than it absorbs 
D. radiates as much as it absorbs 
,ay;G ntg;gepiyapy; gdpf;fl;b xU miwapDs; itf;fg;gl;bUg;gpd; mJ ---------------. 
A. fjph; tPrhJ     
B. Fiwthf fjph; tPRfpwJ. Mdhy; mjpfkhf cl;ftUfpwJ 
C. cl;ftUtijtpl mjpfkhf fjph;tPRk;  
D. cl;ftUk; msT fjph;tPRk; 

 
147. Consider the following with regard to International Court of Justice 

i. Headquarted in The Hague (Netherlands) 
ii. Composed of 15 Judges 

iii. Elected for 9 year term 
iv. Elected by UN General Assembly and Security Council 

  Choose the correct code given below 
  A. i, ii are correct   B. i, ii, iii are correct 
  C. i, iii, iv are correct  D. All are correct 
  cyf ePjpkd;wk; njhlh;ghd gpd;tUk; $w;Wfis Ma;f  

i. jiyikafk; N`fpy; mike;Js;sJ (nejh;yhe;J) 
ii. 15 ePjpgjpfis cs;slf;fpaJ 
iii. 9 Mz;LfSf;F xUKiw Njh;e;njLf;fg;gLfpd;wdh; 
iv. I.eh.tpd; nghJ Nguit kw;Wk; ghJfhg;G rigapdhy; Njh;e;njLf;fg;gLfpd;wdh;. 
,tw;Ws; 
A. i, ii rhp  B. i, ii, iii rhp  C. I, iii, iv rhp  D. midj;Jk; rhp 

 
148. Match the following 

  a. Rashtriya Mahila Kosh  1. 1993 
  b. Swayam Siddha   2. 2001 
  c. Dhan Laxmi   3. 2008 
  d. Janani Suraksha Yojana 4. 2005 
   a b c d 
  A. 1 2 3 4 
  B. 2 3 4 1 
  C. 1 2 4 3 
  D. 4 3 1 1 
  nghUj;Jf 

  a. uh~;bhpa kfpsh Nfh~;  1. 1993 

  b. ];tak; rpj;jh   2. 2001 

  c. jd; y~;kp   3. 2008 

  d. [ddp Ruf;~h Nah[dh 4. 2005 

   a b c d 
  A. 1 2 3 4 
  B. 2 3 4 1 
  C. 1 2 4 3 
  D. 4 3 1 1 
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149. Index ‘Residex’ is associated with 
  A. Share Prices   B. Mutual Fund  
  C. Price Inflation Index  D. Land Prices 
  Residex vd;gJ vjDld; njhlh;GilaJ 
  A. gq;F tpiy   B. gu];gu epjp 
  C. gztPf;f tpiyf; FwpaPL D. epy tpiy 
  

150. Which State of India possesses the maximum number of factories? 
  A. Maharashtra   B. Tamil Nadu 
  C. Uttar Pradesh   D. West Bengal 
 ve;j ,e;jpa khepyk; mjpf njhopw;rhiyfis nfhz;bUe;jJ? 

 A. k`huh~;buk;   B. jkpo;ehL 
 C. cj;jpugpuNjrk;   D. Nkw;F tq;fhsk; 

 
151. The Provisional Government of Free India was announced by 

A. Veer Savarkar in U.S.A in 1944  
B. Subhash Chandra Bose in Singapore in 1943 
C. Rash Bihari Bose in Singapore in 1942 
D. None of the above 

 Rje;jpu ,e;jpahtpd; jw;fhypf muir mwptpj;jth; 
A. 1944Mk; Mz;L tPu rthh;f;fh; - mnkhpf;fh 
B. 1943Mk; Mz;L Rgh~; re;jpuNgh]; - rpq;fg;g+h; 
C. 1942Mk; Mz;L uh~; gpfhhp Ngh]; - rpq;fg;g+h; 
D. ,it VJkpy;iy 

 
152. Arrange the following in Chronological Order: 

I. Chelmsford   II. Wellingdon  
III. Wavell   IV. Irwin 
V. Linlithgow  VI. Reading  

          A. I, II, III, IV, V, VI    B. II, IV, I, VI, V, III 
          C. I, VI, IV, II, V, III    D. I, VI, IV, II, III, V 
 gpd;tUgth;fis fhythpirg;gLj;Jf 

 I. nrk;];Nghh;L  II. ntypq;ld; 
 III. Ntty;   IV. ,h;tpd; 
 V. ypd;ypj;Njh  VI. hPbq; 
          A. I, II, III, IV, V, VI    B. II, IV, I, VI, V, III           
 C. I, VI, IV, II, V, III   D. I, VI, IV, II, III, V 
  

153. The fundamental principle underlying the working of parliamentary system of Government 
is the 
A. Principle of Individual responsibility 
B. Principle of collective responsibility 
C. Principle of Independent Judiciary 
D. Principle of Division of Powers 
ehlhSkd;w [dehafj;jpd; mbg;gil jj;Jtk; vd;gJ 

  A. jdpg;nghWg;G   B. $l;Lg;nghWg;G 
  C. ePjpj;Jiw Rje;jpuk;  D. mjpfhug; gfph;T 
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154. Which among the following is wrongly matched? 
A. Allahabad High Court – 1866 
B. Bombay and Calcutta High Court – 1862 
C. Punjab and Haryana High Court – 1965 
D. Delhi High Court – 1966 
gpd;tUtdtw;Ws; jtwhd ,iziaf; fz;lwpf 
A. myfhghj; cah; ePjpkd;wk; - 1866 
B. gk;gha; kw;Wk; fy;fj;jh cah; ePjpkd;wk; - 1862 
C. gQ;rhg; kw;Wk; `hpahdh cah; ePjpkd;wk; - 1965 
D. nly;yp cah; ePjpkd;wk; - 1966 

 
155. Consider the following statement about secularism: 

I. It promotes religious philosophy 
II. It separates religion from politics. 
III. It denies state support to religious organizations. 
IV. It opposes religious ideas and ideology. 
Which of these statements is/are correct? 
A. only II B. I and III  C. II and III         D. I,II,III and IV 
kjr; rhh;gpd;ik njhlh;ghd gpd;tUk; $w;Wfisf; ftdpf;fTk;: 
I. kjk; rk;ge;jkhd jj;Jtq;fis tsh;f;fpwJ 
II. kjj;ij murpaypy; ,Ue;J gphpf;fpwJ. 
III. kj rhh;G mikg;GfSf;F khepyj;jpd; Mjuit kWf;fpwJ. 
IV. kj rk;ge;jkhd fUj;JfisAk; fUj;jpay; nfhs;iffisAk; vjph;f;fpwJ. 
,tw;Ws; ve;jf; $w;Wfs; rhp? 
A. II kl;Lk;     B. I kw;Wk; III C. II kw;Wk; III     D. I, II, III kw;Wk; IV 

 
156. If ROSE is coded as 6821, CHAIR is coded as 73456 and PREACH is coded as 961473, what 

will be the code for SEARCH?  
A. 246173   B. 214673   C. 214763   D. 216473 
ROSE vd;w thh;j;ij 6821 vd;Wk; CHAIR vd;w thh;j;ij 73456 vd;Wk; PREACH vd;w 
thh;j;ij 961473 vd;Wk; vOjg;gl;lhy; SEARCH vd;w thh;j;ijia vt;thW vOJtha;? 
A. 246173   B. 214673   C. 214763   D. 216473 
 

157. Manoj and Sachin are ranked seventh and eleventh respectively from the top in a class of 31 
students . What will be their respective ranks from the bottom in the class?  

  A. 20th and 24th B. 24th and 20th C. 26th and 22nd D. 25th and 21st 
31 khzth;fis nfhz;l xU tFg;gpy; kNdh[; kw;Wk; rr;rpdpd; juthpirahdJ NkypUe;J 
KiwNa VohtJ kw;Wk; gjpNdhwhtjhf ,Ue;jdh;. mt;tpUthpd; juthpirahdJ 
filrpapypUe;J vd;dthf ,Uf;Fk;? 

  A. 20th,  24th  B. 24th,  20th  C. 26th, 22nd  D. 25th,  21st  
 

158. Pointing to a man, a woman said, “His mother is the only daughter of my mother”. How is 

the woman related to the man? 

A. Mother   B. Daughter   C. Sister  D. Grandmother  
xU Mizr; Rl;bf; fhl;b> xU ngz; ,t;thW nrhd;dhs;> ',tUila jha; vd; jha;f;F xNu 
kfs; Mthh;. me;jg; ngz; me;j MZf;F ve;jtifapy; cwT?" 

 A. jha;;  B. kfs;;  C. rNfhjhp  D. Ngj;jp;    
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159. If in a certain code '157' means 'Mother always affectionate'. '619' means 'Always fortunate 
future' and '952' means 'Mother very fortunate' then which digit is used for 'future' ? 

A. 9                        B. 6  C. Data inadequate   D. 1 

xU re;Njf nkhopapy; '157' vd;gJ 'Mother always affectionate' kw;Wk; '619' vd;gJ 'Always 
fortunate future' kw;Wk; '952' vd;gJ 'Mother very fortunate' vd;W Fwpf;fg;ngw;why;, 'future' 
vDk; thh;j;ijiaf; Fwpf;Fk; vz;? 

A. 9                        B. 6  C. fz;lwpa ,ayhJ  D. 1 
 

160. What is the next figure?     
     mLj;j glk; vd;d? 

 

 
161. Which of the following Fundamental Rights is available to both the citizen and aliens? 

A. The right to equality of opportunity in Public employment  
B. The right to six freedoms 
C. Cultural and educational rights 
D. the right to equality 
gpd;tUtdtw;wpy;; Fbkf;fSf;Fk; md;dpaUf;Fk; toq;fg;gLk; mbg;gil chpik vJ? 
A. nghJ Ntiytha;g;gpy; rk tha;g;G ngWk; chpik  
B. MW Rje;jpuq;fSf;fhd chpik 
C. fyhr;rhu kw;Wk; fy;tprhh; chpikfs; 
D. rkj;Jt chpik 

 
162. Consider the following statements  

I. Right to Information Act 2005 provided for establishment of central and state 
Information Commission 

II. State Information Commissioners are appointed by Governor  
III. Composition – Chief Information Commissioner and not more than 10 Information 

Commissioners 
Choose the correct code 
A. All are correct  B. I, II are correct 
C. I, III are correct  D. III only correct 
gpd;tUk; $w;Wfis Ma;f 
I. jfty; mwpAk; chpik rl;lk; 2005d; gb kj;jpa kw;Wk; khepy jfty; Mizaq;fs; 

cUthf;fg;gl;ld 
II. khepy jfty; Mizak; MSeuhy; epakpf;fg;gLfpwJ 
III. jiyik jfty; Mizah; kw;Wk; 10f;F kpfhj jfty; Mizah;fs; epakpf;fg; 

glNtz;Lk; 
,tw;Ws; 

A. midj;Jk; rhp  B. I, II rhp 
C. I, III rhp   D. III kl;Lk; rhp 
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163. Rainbow is formed due to the phenomenon of  
A. refraction and absorption  B. dispersion and focussing 
C. refraction and scattering  D. dispersion and total internal reflection. 
thdtpy; cUthff; fhuzkhd epfo;T ________ 
A. xsptpyfYk; cl;fth;jYk;  B. epwg;gphpifAk; FtpakiljYk;  
C. xsptpyfYk; rpjwYk;   D. epwg;gphpifAk; KO mf vjpnuhspg;Gk;  

 
164. Nichrome wire is used as the heating element because it has  

A. low specific resistance    B. low melting point  
C. high specific resistance    D. high conductivity  
#Nlw;Wk; ,ioahf epf;Nuhk; gad;gLj;jg;gLfpwJ. Vnddpy;> mJ __________  
A. Fiwe;j kpd;jil vz; nfhz;lJ  B. Fiwe;j cUFepiy nfhz;lJ  
C. mjpf kpd;jil vz; nfhz;lJ  D. mjpf flj;Jk; vz; nfhz;lJ  

 

165. Which of the following was not an objective of the Panch Sheel? 
A. Peaceful coexistence  
B. Non-interference in each other’s internal affairs  
C. Non-aggression  
D. Efforts for world-peace and international cooperation  
gpd;tUgtw;Ws; gQ;rrPy nfhs;ifapy; ,lk;ngwhjJ vJ? 
A. ehLfSf;fpilNa mikjpia epiyehl;ly; 
B. gpw ehl;bd; cs; tptfhuq;fspy; jiyaplhik 
C. gpw ehl;bd; kPJ Mf;fpukpg;G nra;ahik 
D. cyf mikjp kw;Wk; rh;tNjr xw;Wikia epiyehl;ly; 

 
166. Who among the following was the Finance Minister in the Interim Government headed by 

Jawaharlal Nehru? 
A. M.A. Jinnah   B. Rahamat Ali 
C. Liquat Ali Khan   D. None of the above 
[t`h;yhy; NeUtpd; ,ilf;fhy mikr;ruitapy; ,lk;ngw;wpUe;j epjp mikr;rh;  

A. [pd;dh    B. u`kj; myp 
C. ypahfj; myp fhd;  D. ,it VJkpy;iy 
 

167. Sampoorna Grameen Rozgar Yojana (SGRY) was launched in 2001 by merging 
A. JGSY and EAS 
B. TRYSEM and DWCRA 
C. MWS and GKY 
D. NREP and RLEGP 
midj;J fpuhk Ntiytha;g;G jpl;lk; (SGRY) 2001y; vj;jpl;lq;fis ,izj;J 
cUthf;fg;gl;lJ 

A. JGSY & EAS 
B. TRYSEM & DWCRA 
C. MWS & GKY 
D. NREP & RLEGP 
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168. Sania Mirza was conferred the Rajiv Gandhi Khel Ratna Award on 29 August 2015. In this 
context, which of the following statements is/are correct? 
I. Sania Mirza has become the second tennis player after Leander 
    Paes to get the Rajiv Gandhi Khel Ratna. 
II. The Rajiv Gandhi Khel Ratna was instituted in 1991-92 as the 
      highest award for sportsperson in India. 
A. Only I B. Only II  C. Both I and II  D. Neither I nor II 
FbauRj; jiyth; khspifapy; 29 Mf];l; 2015 md;W eilngw;w epfo;r;rpapy;> rhdpah 

kph;rhTf;F uh[pt; fhe;jp Nfy; uj;dh tpUJ toq;fg;gl;lJ.  gpd;tUk; $w;Wfspy; vJ / vit 
rhp?  
I. ypahz;lh; gaRf;F mLj;j gbahf> uh[pt; fhe;jp Nfy; uj;dh tpUJ ngWk; ,uz;lhtJ 
nld;dp]; tPuhq;fidahf rhdpah kph;rh tpsq;Ffpwhh;. 
II. ,e;jpahtpy; tpisahl;Lj; Jiwapy; rpwe;J tpsq;Fk; tPuh;fSf;fhf kpf cahpa tpUjhf 
1991-92y; uh[pt; fhe;jp Nfy; uj;dh tpUJ njhlq;fp itf;fg;gl;lJ. 
A. I kl;Lk;   B. II kl;Lk;   C. I kw;Wk; II   D. ,uz;LNk ,y;iy  

 
169. With reference to Lok Adalats, which of the following statements is correct? 

A. There is no court fee for Lok Adalat 
B. Lok Adalats can deal with matters which are civil and not criminal in nature. 
C. Every Lok Adalat consists of either serving or retired judicial officers only and not any 

other person 
D. None of the statements given above is correct 

Nyhf; mjhyj; njhlh;Gila gpd;tUk; $w;Wfspy; vJ rhpahdJ? 
A.  kf;fs; ePjpkd;wj;jpw;F ePjpkd;w fl;lzk; fpilahJ 
B. Nyhf; mjhyj;Jfs; Fw;wtpay; njhlh;G ,y;yhj> rptpy; jd;ik tha;e;j tof;Ffis 
kl;LNk tprhhpf;f KbAk;. 

C. xt;nthU Nyhf; mjhyj;Jk; gzpapy; cs;s my;yJ gzp Xa;T ngw;w ePjpj;Jiw 
mYtyh;fis kl;LNk nfhz;bUf;Fk;> kw;wth;fs; my;y. 

D. NkNy nfhLf;fg;gl;l $w;Wfs; vJTk; rhpapy;iy 
 

170. Which of the following Articles empower the parliament to legislate on subject contained in 
the state List? 
I. Article 249   II. Article 250   
III. Article 252  IV. Article 253 
A. Only I and II  B. Only I and III 
C. I, III, IV are correct D. All the above   
khepyq;fs; gl;baypy; rl;lk; ,aw;Wk; mjpfhuj;ij ghuhSkd;wj;jpw;F toq;Fk; rl;lf; $W:   

I. rl;lf;$W 249  II. rl;lf;$W 250   
III. rl;lf;$W 252  IV. rl;lf;$W 253 
A. I kw;Wk; II kl;Lk;  B. I kw;Wk; III kl;Lk; 
C. I, III, IV rhp  D. Nkw;fz;l midj;Jk;  
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171. The two lists given below contain the types of party system and their broad nature. Match 
List – I with List-II and select the correct answer from the codes given below the list. 

List-I      List-II 
 a. Multi-Party system         1. Contrary democratic principles 
 b. One party  Dominant system      2. Limits freedom of choice 
 c. Two party system         3. Makes legislature more representative 
 d. one party system         4. Leads to democratic stability 
  a b c d  
 A 4 3 1 2 
 B 3 4 2 1 
 C 2 1 4 3 
 D 1 2 3 4 

gpd;tUk; ,uz;L gl;bay;fs; fl;rp mikg;igAk; mtw;wpd; gutyhd ,ay;igAk; 

Fwpg;gpLfpd;wd.  gl;bay; – I I gl;bay; - II cld; nghUj;jp> gl;baYf;Ff; fPNo 

nfhLf;fg;gl;Ls;s FwpaPLfisg; gad;gLj;jp rhpahd tpiliaj; Njh;e;njLf;fTk;. 
gl;bay; - I     gl;bay; - II 

 a. gy fl;rp mikg;G       1. Kuz;gl;l [dehaff; Nfhl;ghLfs; 
 b. xU fl;rp Mjpf;f mikg;G  2. Njh;e;njLg;gjw;fhd Rje;jpuj;ijf;          

fl;Lg;gLj;JfpwJ 

 c. ,uz;L fl;rp mikg;G           3. rl;lkd;wj;ij mjpf gpujpepjpj;Jtk; nfhz;ljhf  
Mf;FfpwJ 

d. xU fl;rp mikg;G            4. [dehaf epiyj; jd;ikf;F toptFf;fpwJ 
  a b c d  
 A 4 3 1 2 
 B 3 4 2 1 
 C 2 1 4 3 
 D 1 2 3 4 
 

172. Which one of the following was established to improve administrative efficiency of the 
government departments? 
A. Central Statistical Organisation 
B. Organisations and Methods Division 
C. Ministry of Personnel, Public Grievances and Pension 
D. Ministry of Statistics and Programme Implementation. 
muRj; Jiwfspd; eph;thfj; jpwikia mjpfhpg;gjw;fhf gpd;tUtdtw;Ws; vJ njhlq;fg;gl;lJ? 

A. kj;jpa Gs;spapay; mikg;G 
B. mikg;Gfs; kw;Wk; topKiwfs; gphpT 
C. gzpahsh;> nghJkf;fs; Fiw jPh;g;G kw;Wk; Xa;t+jpa mikr;rfk; 
D. Gs;spapay; kw;Wk; jpl;l mkyhf;f mikr;rfk;. 

 
173. Which of the following pairs (Arjuna Award Winners 2015 : Discipline) is not correct? 

A. K.Srikanth : Badminton    B. Swarn Singh : Rowing   
C. S.Satish Kumar : Archery  D. Sanothoi Devi : Wushu  
gpd;tUk; ,izfspy; (mh;[{dh tpUJ ngw;wth;fs; 2015 : Jiw) rhpahfg; nghUe;jtpy;iy? 

A. Nf. =fhe;j; : ghl;kpd;ld;   B. ];tud; rpq; : glFg; Nghl;b 
C. v];. rjP~;Fkhh; :: tpy; tpj;ij  D. rndhNjha; Njtp : T~{ 
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174. Match the following 
a. Yugantar   1. Bramanandhab   
b. Sandhya   2. Virendranath Chattopadhayay 
c. Talwar   3. B.K. Ghosh 
d. Bandhi Jeevan  4. Sachendranath Sanyal 
  a b c d 
A. 3 1 2 4 
B. 3 2 1 4 
C. 1 2 3 4 
D. 3 4 1 2 
nghUj;Jf 

a. Afhe;jh;    1. gpuk;khee;jg; 

b. re;jpah    2. tpNue;jpuehj; rl;Nlhghj;jpaha; 

c. jy;thh;    3. gp.Nf. Nfh~; 

d. ge;jp [Ptd;   4. rr;Nre;jpuehj; rd;ahy; 

  a b c d 
A. 3 1 2 4 
B. 3 2 1 4 
C. 1 2 3 4 
D. 3 4 1 2 

 
175. Consider  the following 

I. Satyamoorthy is being called as protector of people rights 
II. Ayodhyadas Pandidhar was one of the co-founder of the Newspaper Dravida Pandiyan 
A. I only is correct  B. II only is correct 
C. Both are correct  D. Both are wrong 
gpd;tUk; $w;Wfis Ma;f 
I. rj;jpa%h;j;jp kf;fs; chpik fhtyh; vd;W miof;fg;gLfpwhh; 
II. mNahj;jpjh]; gz;bjh; jpuhtpl ghz;bad; vd;w gj;jphpf;ifapid Njhw;Wtpj;jth;fSs; 

xUth; 

A. I kl;Lk; rhp  B. II kl;Lk; rhp 
C. ,uz;Lk; rhp  D. ,uz;Lk; jtW 
 

176. 58 × 12 = 4, 37 × 96 = 5, 11 × 20 = 2 then 42 × 12 = ? 

A. 2   B. 3  C. 4  D. 5 

58 × 12 = 4, 37 × 96 = 5, 11 × 20 = 2 vdpy; 42 × 12 = ? 

A. 2   B. 3  C. 4  D. 5 
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177. If same patterns of operations are followed in all the three diagrams given below then the 
missing number is                
xNu khjp;hpahd nray;ghLfisf; ifahz;L fPNo jug;gl;Ls;s glq;fspYs;s vz;fs; 
Fwpf;fg;gl;lhy; tpLgl;l vz; ahJ? 

 

A. 25   B. 80  C. 75  D. 104 

 
178. If in a certain language FASHION is coded as FOIHSAN, how is PROBLEM coded in that 

code? 
A. ROBLEMP B. PELBORM  C. PRBOELM  D. RPBOELM 
FASHION vd;w thh;j;ijia FOIHSAN vd FwpaPl;by; vOjpdhy; PROBLEM vd;w 
thh;j;ijia vt;thW FwaPl;by; vOjyhk;? 

A. ROBLEMP B. PELBORM  C. PRBOELM  D. RPBOELM 
 
179. If the mid marks of a distribution are  23, 27,31,35 and 39, then the classes of the distribution 

are____ 
A. 19 – 23, 23 – 27, 27 – 31, 31 – 35, 35 – 39 
B. 20 – 24, 24 – 28, 28 – 32, 32 – 36, 36 – 40 
C. 21 – 25, 25 – 29, 29 – 33, 33 – 37, 37 – 41 
D. 22 – 26, 26 – 30, 30 – 34, 34 – 38, 38 – 42 
Gs;sptptuq;fspd; gphpT ,ilntspfspd; ,ilepiyfs; KiwNa 23> 27> 31> 35 kw;Wk; 39 
vdpy;> mg;Gs;sp tptuq;fspd; gphpT ,ilntspfisf; fhz;f 

A. 19 – 23, 23 – 27, 27 – 31, 31 – 35, 35 – 39 
B. 20 – 24, 24 – 28, 28 – 32, 32 – 36, 36 – 40 
C. 21 – 25, 25 – 29, 29 – 33, 33 – 37, 37 – 41 
D. 22 – 26, 26 – 30, 30 – 34, 34 – 38, 38 – 42 
 

180. If the means of two distributions be M1, and M2 while their frequencies are f1 and f2 then the 
mean of two combined distribution will be__ 

a. 1 1 2 2

2

M f M f

M M

+

+

 b. 
1 2

2

M M

fl f

+

+
  c. 1 1 2 2

1 2

M f M f

f f

+

+

 d.  
1 2

1 2

M M

f f
+  

,uz;L Gs;sp tptuq;fspd; ruhrhp KiwNa M1 kw;Wk; M2 ,itfspd; miyntz; KiwNa f1 

kw;Wk; f2 vdpy;> ,g;Gs;sptptuq;fspd; ,ize;j $l;Lr;ruhrhp fhz;f 

a. 1 1 2 2

2

M f M f

M M

+

+

 b. 
1 2

2

M M

fl f

+

+
  c. 1 1 2 2

1 2

M f M f

f f

+

+

 d.  
1 2

1 2

M M

f f
+  

 
181. The most electronegative element of the periodic table is ______. 

A. Iodine  B. Fluorine  C. Chlorine  D. Oxygen  
jdpk thpir ml;ltizapy; cs;s mjpf vyf;l;uhd; fth; jpwd; nfhz;l jdpkk; ------------------. 

A. mNahbd;   B. G@hpd;  C. FNshhpd;  D. Mf;rp[d; 
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182. Which of the following hydroxide is most basic ? 
A. Mg (OH)2  B. Ba (OH)2  C. Ca (OH)2  D. Be (OH)2 

fPo;f;fz;l i`l;uhf;i]Lfspy; vJ mjpf fhuj;jd;ik cilaJ? 

A. Mg (OH)2  B. Ba (OH)2  C. Ca (OH)2  D. Be (OH)2 

 
183. Silver salt used in photography is 

A. AgCl  B. AgNO3  C. AgF  D. AgBr 
ve;j rpy;th; cg;G Gifg;glj;njhopypy; gad;gLfpwJ? 

A. AgCl  B. AgNO3  C. AgF  D. AgBr 
 
184. Sahitya Academy winner M.M.Kalburgi on 30 August 2015 was killed. He was  

A. A noted Kannada epigraphist 
B. A renowned scholar of the Vachana Literature 
C. A former vice-chancellor of Kannada University 
D. All of the above  
rhfpj;a tpUJ ngw;wtuhd vk;.vk;. fy;g+h;fp 30 Mf];l; 2015 md;W nfhy;yg;gl;lhh;> mth; xU 

A. xU Gfo;ngw;w fy;ntl;L epGzh; 
B. thrd ,yf;fpaj;jpy; Gfo;ngw;w xU mwpQh; 
C. fd;dlh gy;fiyf; fofj;jpd; xU Kd;dhs; Jiz Nte;jh; 
D. Nkw;fz;l midj;Jk;   

 
185. Who is the CEO of Google? 

A. Alfred Mark  B. Sundar Pichai  C. Daniel Nichols   D. PS Iyer 
$Fspd; jw;Nghija jiyth; ahh;?  
A. My;gpul; khh;f;  B.Re;jh; gpr;ir C. Nldpay; epf;fy;];  D. gpv];. ma;ah;  

 
186. Consider the following 

I. Annie Besant called Vivekananda as “Hindu Messiah” 
II. Subash Chandra Bose called Vivekananda as “Spritual Father of Indian Nationalism” 
A. I only is correct  B. II only is correct 
C. Both are correct  D. Both are wrong 
gpd;tUk; $w;Wfis Ma;f 
I. md;dp ngrd;l; tpNtfhde;jiu “,e;J rka ghJfhtyh;” vd mioj;jhh; 
II. Rgh~; re;jpuNgh]; tpNtfhde;jiu “,e;jpa Njrpaj;jpd; Md;kpf je;ij” vd mioj;jhh; 
A. I kl;Lk; rhp  B. II kl;Lk; rhp 
C. ,uz;Lk; rhp  D. ,uz;Lk; jtW 

 
187. Find out the incorrect pair with regard to INC Session 

A. 1955 – Avadi – U.N. Dhebar 
B. 1964 – Bhuwaneshvar – K. Kamaraj 
C. 1966 – Jaipur – K. Kamaraj 
D. 1950 – Nasik – J.B. Kripalani 

gpd;tUtdtw;Ws; ,e;jpa Njrpa fhq;fpu]; khehLfs; njhlh;ghd jtwhd ,iziaf; fz;lwpf 

A. 1955 – Mtb – U.N. Njgh; 
B. 1964 – GtNd];th; - K. fhkuh[h; 
C. 1966 – n[a;g;g+h; - K. fhkuh[h; 
D. 1950 – ehrpf; - J.B. fpUghsdp 



 

� 46 | Page         044-24339436, 044-42867555, 9840226187 

                
 

  
188. Which one of the following judgements stated that secularism and federalism are the basic 

features of the Indian Constitution? 
A. Keshavanada Bharati Case  B. S.R.Bommai Case 
C. Indira Sawhney Case   D. Minerva Mills case 
rkarhh;gpd;ik kw;Wk; $l;lhl;rp ,e;jpa murpayikg;gpd; mbg;gil $Wfs; vdf;$wpa tof;F? 

A. Nfrthde;jh ghujp tof;F  B. S.R. nghk;ik tof;F 
B. ,e;jpuh rh ;̀dp tof;F   D. kpdh;th kpy; tof;F 
 

189. Who among the following was elected president of India unopposed? 
A. Dr Rajendra Prasad   B. Dr. S Radhakrishnan 
C. Dr. Neelam sanjeeva Reddy  D. K.R. Narayann 
gpd;tUgth;fspy; ahh; Nghl;bapy;yhky; FbauRj; jiytuhfj; Njh;e;njLf;fg;gl;lhh;? 
A. lhf;lh;. uhN[e;jpu gpurhj;   B. lhf;lh;. v];. ,uhjhfpU~;zd; 
C. lhf;lh;. ePyk; rQ;rPt nul;b  D. Nf. Mh;. ehuhazd; 
 

190. The Ministers are individually responsible to  
A. The president 
B. The House of the People 
C. The Prime Minister 
D. The House of which they are members 
mikr;rh;fs; jdpj;jdpahf ahUf;Ff; flikg; gl;lth;fs;?  

A. FbauRj; jiyth; 
B. kf;fs; mit 
C. gpujk ke;jphp 
D. mth;fs; cWg;gpdh;fshf cs;s mit. 

 
191. Consider the following statements: 

I. The joint sitting of the two Houses of the Parliament in India is sanctioned under Article 108 
of the Constitution. 
II. The first joint sitting of Lok Sabha and Rajya sabha was held in the Year 1961. 
III. Joint sitting will be presided over by Speaker 
IV. Joint sitting requires special majority (2/3) 
Which of these statements are correct? 
A. I and II  B. II, III and IV C. I and III  D. I,II and III 

     gpd;tUk; $w;Wfisf; ftdpf;fTk;: 
I. rl;lf;$W 108 ,e;jpa ehlhSkd;wj;jpd; ,U mitfspd; $l;L $l;lj;njhlUf;F toptif 
nra;fpwJ 
II. kf;fsit kw;Wk; khepyq;fs; mitapd; KjyhtJ $l;Lf; $l;lk; 1961y; ele;jJ. 
III. $l;L $l;lj;jpd; jiytuhf kf;fsit rghehafh; nray;gLthh; 
IV. $l;L $l;lj;njhlUf;F rpwg;G ngUk;ghd;ik mtrpak; (2/3) 
,tw;Ws; ve;jf; $w;Wfs; rhpahdit? 

A. I kw;Wk; II  B. II, III kw;Wk; IV C. I kw;Wk; III    D. I, II kw;Wk; III 
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192. Which city topped in the Swachh Bharat Rankings of 476 cities in India, in a survey 
conducted during 2014-15 by the Ministry of Urban Development, results of which were 
disclosed on 8 August 2015? 
A. Chennai   B. Mysore   C. Kozhikode  D. Pune  
,e;jpa murpd; efh;g;Gw tsh;r;rp mikr;rfj;jpdhy; 2014-15y; elj;jg;gl;l fzf;nfLg;G kw;Wk; 8 
Mf];l; 2015 md;W ntspaplg;gl;l mjd; KbTfs; mbg;gilapy;> J}a;ik ,e;jpah 
jpl;lj;jpd;fPo; thpirg;gLj;jg;gl;l 476 ,e;jpa efuq;fspy; ve;j efuk; Kjyplk; tfpf;fpwJ.   

A. nrd;id   B. ik#h;  C. Nfhopf;NfhL  D. GNd  
 

193. What is the name of the cyclone that resulted in heavy rains in west Bengal, Manipur, Odisha 
and other Eastern states of the country on 1-2 August 2015? 
A. Cylone Beth    B. Cylone Komen  
C. Cylone Andy    D. Cylone Merck 
Nkw;F tq;fhsk;> kzpg;g+h;> xbrh kw;Wk; ehl;bd; ,ju fpof;fj;jpa khepyq;fspy; 1 – 2 Mf];l; 
2015 Njjpfspy;> ngUkioiaj; jUtpj;j #whtspapd; ngah; vd;d? 
A. Ngj; #whtsp     B. Nfhnkd; #whtsp  
C. Md;b #whtsp   D. nkh;f; #whtsp 

 
194. Match the following : 

 List-I       List-II 
 (Procedure)      (Year) 

 a. short duration discussion   1. 1964 
 b. calling attention motion   2. 1962 
 c. Zero Hour     3. 1953 
 d. Committee on Public Undertakings  4. 1954 
  a b c d 
 A 4 3 1 2 
 B 3 4 2 1 
 C 4 2 1 3 
 D 3 2 4 1 

 gpd;tUtdtw;iwg; nghUj;Jf : 
 gl;bay; - I      gl;bay; - II 
 (eilKiw)      (Mz;L) 

 a. FWfpa fhy tpthjk;    1. 1964 
 b. ftd <h;g;Gj; jPh;khdk;    2. 1962 
 c. g+[;a Neuk;     3. 1953 
 d. nghJj; Jiw epWtdq;fs; njhlh;ghd FO  4. 1954 
  a b c d 
 A 4 3 1 2 

 B 3 4 2 1 
 C 4 2 1 3 
 D 3 2 4 1 
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195. Ordinances may be promulgated by the President of India, the Governor of a State and the 
Administrator of a Union Territory, under which of the Article of the Constitution 
respectively. 
A. 123, 213, 239  B. 123, 321, 239  
C. 123, 213, 239 B  D. 123, 312, 392 B 
FbauRj; jiytuhy;> xU khepyj;jpd; MSeuhy; kw;Wk; xU a+dpad; gpuNjr eph;thfj; 
jiytuhy; mtrur; rl;lk;> KiwNa murpayikg;Gr; rl;lj;jpd; ve;j rl;lf;$wpd;gb 
gpwg;gpf;fg;glyhk;.  

A. 123, 231, 239  B. 123, 321, 239  
C. 123, 213, 239 B  D. 123, 312, 392 B 

 
196. Standard deviation of 1,4,5,7, and 8 is 2.45.  If 10 is added to each term, what is the new 

standard deviation?  
A. 2.45  B. 24.5  C. 0.245  D. 12.45 
1,4,5,7, 8 vd;w vz;fspd; jpl;l tpyf;fk; 2.45 MFk;. xt;nthU vz;zpd; kjpg;gpYk; 10-If; 
$l;bdhy;> jpl;l tpyf;fk; 

A. 2.45  B. 24.5  C. 0.245  D. 12.45 
 
197. Which supercomputer is developed by the Indian Scientists? 

A. Param B. Super 301  C. Compaq Presario  D. CRAY YMP 
ve;j kPf;fzpg;nghwp ,e;jpa mwptpay; mwpQu;fshy; cUthf;fg;gl;lJ? 

A. Param B. Super 301  C. Compaq Presario  D. CRAY YMP 
 

198. Which of the following refers to a small, single-site network? 
A. LAN B. WAN  C. MAN  D. MESH 
gpd;tUtdtw;wpy; ve;j xd;W rpwpa> xw;iw js tiyaikg;igf; Fwpf;fpd;wJ? 

A. LAN B. WAN  C. MAN  D. MESH 
 

199. Convert the Decimal number 300 into its hexadecimal equivalent. 
A. (12C)16   B. (12B)16  C. (11C)16  D. (1211)16  

 300 vd;w jrk vz;iz gjpdhW epiy vz;zhf khw;Wf 

A. (12C)16   B. (12B)16  C. (11C)16  D. (1211)16  
 
200. Free of cost repair of software bug available at Internet is called … 

A. Version       B. Ad-on  C. Tutorial         D. Patch 
 ,izaj;jpy; nkd;nghUs; gpiofis ,ytrkhf rhp nra;tjpid _____ vd;W miof;fyhk;? 

A. Version       B. Ad-on  C. Tutorial         D. Patch 
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GROUP I - 2015 

MODEL EXAMINATION MODEL EXAMINATION MODEL EXAMINATION MODEL EXAMINATION ----    IIII    
 

1 2 3 4 5 6 7 8 9 10 
C B B A C A C A B B 

11 12 13 14 15 16 17 18 19 20 
D B B C B C A B B C 

21 22 23 24 25 26 27 28 29 30 
B D C B B B B B C A 

31 32 33 34 35 36 37 38 39 40 
A D D A A C B D A B 

41 42 43 44 45 46 47 48 49 50 
C C B D B A B D A B 

51 52 53 54 55 56 57 58 59 60 
D A C D C C B C D B 

61 62 63 64 65 66 67 68 69 70 
A D D B B B B C A D 

71 72 73 74 75 76 77 78 79 80 
A A A C D B B D A D 

81 82 83 84 85 86 87 88 89 90 
A C C C B D D B C B 

91 92 93 94 95 96 97 98 99 100 
C D C A C C A B D C 
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101 102 103 104 105 106 107 108 109 110 
A A A C B B C B A C 

111 112 113 114 115 116 117 118 119 120 
B D B B C D D A D D 

121 122 123 124 125 126 127 128 129 130 
C A C A D D A C C D 

131 132 133 134 135 136 137 138 139 140 
B A B C C D B C A B 

141 142 143 144 145 146 147 148 149 150 
D A D B B B D A D B 

151 152 153 154 155 156 157 158 159 160 
B C B C A B D A B C 

161 162 163 164 165 166 167 168 169 170 
D A D C D C A C B D 

171 172 173 174 175 176 177 178 179 180 
B B C A C B B B C C 

181 182 183 184 185 186 187 188 189 190 
B B D D B B D B C A 

191 192 193 194 195 196 197 198 199 200 
D B B B C A A A A D 

 


